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Topic:- Grad_Nutrition and Health

1) Aims of the National Nutrition policy is:/ JTg1a Wwor Fifq &1 @87 5:
1. Both of the above/ RUCIESRAG]
2. None of the above/ SR T I Ebﬁ's‘ =|75°f

3. To highlight the need for intersectoral coordination to achieve nutritional goals/

TIYUT 6T b1 8TRIA = & ford fafid & & ot gH-ag &1 Mavgddl UR UHT ST

4. To reduce the burden of malnutrition in the country/ e | W Caj EﬁET YcTHr

Correct Answer :-

« Both of the above/ RURCSRAR]

2) Infant mortality refers to the number of deaths below years of
age per 1000 live births./ auTd & &2 Ufd 1000 siifad =1 W | B AT

& fRrgef 3t gg d@n 3 F5d §:
1.1l year/ 1 GL
2.2 year/ 2 @¥
3.3 year/36|'5f

4. 4 year/4 G

Correct Answer :-

e 1 year/ 199

3) An example of incomplete protein is:/ srtpfuﬁz‘h dI Th 3alerul %:
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1. Zein/RoTEA
2. Egg/3feT

3. Milk/gy
4. Fish/daaalt

Correct Answer :-

. Zein/N@T

4) What is the recommended dietary allowance for iron for girls between 10-
15 years of age as per ICMR 2010?/ ICMR 2010 & 3R 10-15 T4 & 3Tg areit

qrfaeTsil & e emaRa &t orqRifya sty srgufa 82
1. 27 mg/day/27 famn/fea
2. 20 mg/day/20 f&Em/fea
3. 33 mg/day/33 f&Rn/fea
4. 35 mg/day/35 /e

Correct Answer :-

. 27 mg/day/27 ferm/fea

5) A vaccine can be:/ R+ gl Il gl
1. An antigenic protein/ QU@ UidH

2. Weakened pathogen;/ &ftor &1 faar NUSEE

3. Live attenuated pathogen/ Sitfad, &ftfigd Ao
4. All of the above/ B“Cﬂi?ﬁ gt

Correct Answer :-

« All of the above/ wéaa gt

6) Vitamins A, D, E, and K are:/f3erf¥ A, D, E 3R K &
1. Fat soluble vitamins/ 391 ‘{[Hﬂ?ﬁﬂﬁ?lfﬁ:l

2. Water soluble vitamins/ CIR:] ‘gﬁﬂ?ﬂﬂﬁ?‘lﬁ?

3. Insoluble vitamins/ 3fgcHRid faeTie

4. None of the above/ SWIRiad ¥ ¥ &g &l

Correct Answer :-
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« Fat soluble vitamins/ 94l H gﬂﬂ&ﬂﬂ foerfim

7) In general, nutritional deficits in the breastfeeding mother:/ AU &1 el
ATaT # Wy g St 9 | graTd: | T 82

1. Reduce the quantity of her milk/ 39 g¥ P AT U ST §

2. Reduce all nutrients equally/ gt N g SRIeR A H °e Od ©

3. Stop lactation entirely/ giUHId U;f[ e P ol §
4. None of the above/3TH ¥ ®Ts gl

Correct Answer :-
« Reduce the quantity of her milk/ 3¥d gY &I AET U S &

8) The term for a fertilised egg from conception until the end of two months
development-/ fFO=9 § AFR I 418 @ UG a&, e srvs FIfRET # a1 Fa
ST 82

1. Ova/ 3(U8 BRI
2. Foetus/ TR f?rﬂ
3. Zygote/ AN

4. Embryo/¥Ul

Correct Answer :-

« Embryo/YUl

9) The foetus is especially subject to the teratogenic effects of some

chemicals during which period of time?/ g gwarafy o HWWWW
& foeue yymal & faRiy wu & odiq giar g2

1. First trimester/ ‘Ts’?ﬁ ﬁITITEﬁ
2. Fertilisation/ ELEE

3. Second trimester/ gﬂél |?IIII€|
4. Third trimester/ ™ faA él

Correct Answer :-

e First trimester/ U%?‘ﬁ ﬁm%“r

10) Which of the following water-soluble vitamins does not pose a

particularly high risk of toxicity?/ 378 | &9 9a ga=ita faerfie faureaar &1
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fody wu & 3= Sifew I 181 ovar 82
1. Vitamin B6/ facT® B6

2. Thiamine/ UTATHH

3. Vitamin C/ fderfiq €

4. Niacin/ e

Correct Answer :-

« Thiamine/ Yraf¥ =

11) Fetus receives Nutrition through:/ TRy ﬁﬂ{[iﬁ oy & HIH I
frerar 81

1. Antibodies/ Tutsial

2. Meconium/ STTAAET (HIT-aH)

3. Placenta/ YT (wi¥eT)

4. Amniotic fluid/3ed IR (THACH FIZS)

Correct Answer :-

« Placenta/ THATd (@@'ET)

12) The dietary recommendations for retinol for a expectant mother as per

ICMR 2010 is-/ ICMR 2010 ¥ 3G9R THadl Tt 8q ¥eqara & smerdta srgafa &-
1. 800 micrograms/day/800 g rmH/feA
2. 650 micrograms/day/ 650 g/ fea
3. 550 micrograms/day/ 550 ATSH I/ feq
4. 700 micrograms/day/700 ArgshrrH/feA

Correct Answer :-

. 800 micrograms/day/800 HATgs R/

13) A visual food guide which enables an individual to understand the
recommendations for dietary guidelines and put them into practice is: /T®

TATHP @ UnielieT St safed &t ety ferm fFAdn & sz &) gus™ iR 3%
aeR § @ # g9 F47ed @

1. Food guide pyramid/ 9] iR fRifrs
2. Energy pyramid/ S RIS
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3. Protein pyramid/ WeH faifirs
4. None of the above/ SWiad # ¥ PIs gl

Correct Answer :-

. Food guide pyramid/ @re ARiERieT faRifis

14) Which of the following types of beriberi are correct except?/ '{-‘-I'l}l 3 foa
Brsoe o= 9, -3 & T8 o= T2

1. Dry beriberi/ Y[t PR

2. Cardiac beriberi-Wet beriberi/ g&d SRIaRI - g Sea™)
3. Infantile beriberi/ FaSTd sRIsRT

4. Geriatric beriberi/ q&'aﬂﬁﬂ

Correct Answer :-

« Geriatric beriberi/ q&’éﬂﬁﬂ

15) 10gm of iodized salt provides mg of iodine:/ 10 ¥ 3RS H-gad
e J form smad= frerdt 3

1. 150
2.100
3.120

4. 80

Correct Answer :-

« 150

16) Insulin deficiency causes:/ S=IfeH @ HHT A FT a1 82
1. Diabetes insipidus/ SREEEE R TR

2. Goitre/ o

3. Diabetes mellitus/ ST Afeied

4. All of the above/ B“Cl?i?ﬁ ot

Correct Answer :-

. Diabetes mellitus/ SHfacs Afeley


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

17) What are the important tasks, which the community health centers

undertakes?/ ATHSIAS WIRA $-5i gIRT [HT T aTd Hgeayul SR 1 82
1. Disposing off the sewage/ HaSId &1 AU

2. Germ free drinking water/ ﬁTﬂTfJ_: Had PR

3. Immunization and health education/ UfdRaflHR0r Td wrey e

4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ Iudad Tt

18) Vaccines make the body?/ 3&fi9 IR A F1 FAd &2

1. Produce antibodies/UUctals! IdT BT

2. Produce more red blood cells/ 3R 3if¥ dId Iad HIRBTT IAT BT

3. Produce dead bacteria/ Jd SaTy] 3o BHRAT
4. None of these/ '51:1'3[ q ?ﬁé HB°[

Correct Answer :-

« Produce antibodies/TU¢IaIat I BT

19) Expected weight gain during third trimester of pregnancy is-/ THTaRT Ft

Tt faams) & dRTe srifam wR gfS @ -

1. One pound a week/ T U138 Ufd T8

2. Two pound a week/ & UI3s Ufd 98
3. 10 pounds in month/ TF AT # 10 UES
4. None of the above/ B’q?iTﬁ =i aﬂéqﬁ

Correct Answer :-

« One pound a week/ T&% T3S Ufd 9«8

20) The RDA for calcium for growing boys between 10 to 17 years of age as
per ICMR 2010:/ ICMR 2010 & 3J9R 10 ¥ 17 a9 & Fed JTa®! & fore »feran
RDA &:

1. 500 mg / day/500 forn/fea
2. 600 mg / day/600 f&rm/fea
3. 800 mg / day/800 f&rm/fea
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4.900 mg / day/900 fmn/fea

Correct Answer ;-

. 800 mg / day/800 ffrn/feA

21) Most vaccines are-/ fPaR aRI—T

1. Taken by mouth/ 9 gRT 1%1? SITd %

2. Injected in body by Injection/ SSaRM gRT TRR H Uy 1T o1d &
3. Inhaled/ 99 &R o o &

4. Taken with food/ HISH & I1Y folg SITd €

Correct Answer :-

. Injected in body by Injection/ $9/aRH gRT TRR H UfAY HT O1d &

22) Pradhan Mantri Gramodaya Yojana focuses on creation of social and

economic infrastructure which include:/ 944 et ‘JITlﬂ'c,"!I IS TS 3R
anfife gimard e & i W) Sf<a ? s it 8

1. Rural roads/ TTHIoT ?I_sa?

2. Safe and potable drinking water/ Rf&id Td UH a1ig 5id
3. Better housing/ YER AN

4. All of the above/ wéaa gt

Correct Answer :-

« All of the above/ Iudad Tt

23) The food pyramid for Indians as per NIN 2010 suggests / shows foods to
be-/NIN 2010 & IR YRl 3g @TE fiRIfirs @re uerd ggmar/g=itar 2

1. "Eat Adequately"/ "Uaie HET # WT S ara”

2. "Eat moderately"/"?iﬂﬁlﬁ AT H WME S a1
3. "Eat sparingly"/"dgd g &H 9 § W@ OH ara”
4. All of the above/3dad Tt

Correct Answer :-

« All of the above/G’quGﬁ gt

24)
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A flu vaccination must be given to a person every year because:/ feadl &I

Y dRIH &% 9 At arfee Fife-
1. The virus can change from one year to the next/ ﬁ'ﬁlTlI[ g¥-cz-a¥ Seardr IgdT §

2. It is too strong to stay in your body forever/ dg ERRIRUESEUN Gl % f amud /R A
Had & forg =8 I8 apdl

3. The vaccine dies after a certain period of time/ $& THT §1¢ JRIH Td &l Sl §
4. None of these/3TH ¥ @5 gl

Correct Answer :-

« The virus can change from one year to the next/ fauTy] a¥-c=-a% Sqadl IgdT &
25) Consequences of the PEM are mostly:/ PEM & gwfvony 3iftsizm: 8-
1. Irreversible growth retardation/ /b HUI q@w

2. Increased risk of mortality/ FRURNd & Sif¥ed H gig

3. Low cognitive performance/ % JqHT&® UeH

4. All of the above/3dad Tt

Correct Answer :-

« All of the above/@ﬁfﬁ gt

26) The Annapurna scheme aims at providing food security to meet the
requirement of group:/ 3TAYUIT A1 & YT Bl AMaRAHATS i
g & T Wrer YR&m T H W afdd 3

1. Pregnant mothers/ mfadt Ararsi

2. Adolescent girls/ fnteat

3.0ld age/ oI

4, Critically ill patients/ -9 gBIeld IR

Correct Answer :-

. Old age/ gGor!

27) Immune disorders include:/ UfcR & faeRT & Iy« g
1. Hypersensitivity/ 3ifd Saga=iadr (SR ARifefae)

2. Auto immune disease/ WUfaReft (3fict ) T

3. Immunodeficiency/ TfcRe GAdl
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4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ Iudad Tt

28) High density lipoprotein (HDL) is also known as:/ 3 99 GIELIEIGE]
(HDL) & Wi $8d &

1. Bad cholesterol/ @ﬁﬁ@ﬁﬁ

2. Poor cholesterol/ Hegl AR
3. Good cholesterol/ 3@l dIcRkeRId
4. All of the above/ B“CRiTﬁ ot

Correct Answer :-

« Good cholesterol/ 33T B

29) No one is immune to AIDS-/ ®13 ft TgH & favg uferfém 78 81
1. True/ ?I?T

2. False/ TIdd
3. Cannot say/ ®g gl d&d
4. None of the above/ SWRIgd & ¥ ®Is T8l

Correct Answer :-

« True/ Tal

30) Nutritional status is assessed by use of-/ TYUl fRUfT &7 MTHAT &
ST gRT T =T &:

1. Anthropometric measurements/ TﬁI'cﬂTl HYA
2. Assessment guide/ b TrfefieT

3. Living conditions/ Sita- fRufcraf

4. None of the above/3WIad ¥ ¥ &5 g!

Correct Answer :-

« Anthropometric measurements/ ﬂ'&l’cﬂﬂ HYq
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In India, severe acute malnutrition occurs in young children (6 months to 5

years) and is the major cause of:/HRd # B¢ g=f (6 ATE ¥ 5 q¥) H TR freur
FUVUIEAI R AR TG HT U@ SRUI &

1. Mortality/ AUl

2. Food poisoning/ &1< fasTadr

3. Anaemia/ YddTeddl

4. Iodine deficiency/\’:iTCh@:r BT HHI

Correct Answer :-

« Mortality/ FARURI

32) They do not supply energy but play a role in regulation and utilisation of

macronutrients-/ 3 &ull @1 3MYfe TE FIQ, W T8¢ NS dedl & a1 3R ST A
Yfirer fAura 8-

1. Fats/ 99U

2. Carbohydrates/ ®Talglzse
3. Proteins/ WA

4. Vitamins and minerals/ fae®q iR fiFRa

Correct Answer :-

. Vitamins and minerals/ faei®m 3R firRa

33) All stages of rash are seenin:/ERiF I W # ¢@ &l frad gl
1. Chickenpox/ EIGEEET (ﬁlﬁTﬁTﬂ)

2. Measles/ @RI

3. Typhoid/ C®IsS

4. Smallpox/ ddH (WHIUIRT)

Correct Answer :-

« Chickenpox/ B¢t 9a& (fa@uie)

34) As per the dietary guidelines for Indians one should-/ YRdar %"g’ MR
fe=m =i & SrgaR =afea @

1. Eat variety of foods from all food groups to ensure a balanced diet/?i’g’ﬁ'lﬁ 3TeR
AT H & foe gt W wggt § fafta @ uerdf &1 999 @31 a1t

2. Discourage breastfeeding/ ¥d-Ur4 P gdlTed BT ANeT
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3. Encourage overeating/ 3TaRgG&dl ¥ 3Hfd @M &I FI1dT ¢1 dTey

4. Promote high use of fats as a source of high energy /3 39l & Ad & &0 § ga13if
¥ I IUANT P FGIdT ST A1y

Correct Answer :-

« Eat variety of foods from all food groups to ensure a balanced diet/?i’g’ﬁﬁ 3TeR
AT s & foe gt W aggt ¥ fafta @ uerdf &1 Ja9 &A1 a1

35) The placenta is metabolically active and matures throughout

pregnancy:/ﬂmﬂqﬁﬂﬂ-ﬁa@ﬂ%aﬂ?wﬁﬁﬁmﬁ?ﬁ?ﬁw
gid STt 81 39 I H HIH-9T $YF 9 82

1. It synthesizes several amino acids and hormones/ g P HHI Al 3R grAMAY BT
AT et §

2. It transfers oxygen and nutrients from mother to the foetus/ T8 3RS 3R TYH
Il @I AT § TR RIg] 9% ugard! §

3. Both of the above/B’C@Tﬁ EE|

4. It is not a part of special life support systems for the foetus/ g UWM% IGEW
S 3murst it &7 4T T &

Correct Answer :-

« Both of the above/B'CIﬁER-r EE|

36) Consequences of iron deficiency include:/ 3R &I HH! & guRomAl &
RUIE

1. Negative effects on energy metabolism/ Sl IAIY TR TGRS GHTT

2. Reduced work performance and productivity/ &0 U= 3R Idrewmar § HHt
3. Increased risk in pregnancy/ TfaRT # SieT | "q’@
4. All of the above /30dad T+t

Correct Answer :-

« All of the above /3ad Tt

37) Which of the following is true of chickenpox?/ﬁ% FIRH E'ﬁ T P T8
?

1. Virus is not found in scab/ Tust ﬁﬁqu T} fireid §
2. Caused by RNA virus/ RNA faum § gt 8

3. Does not cross the placental barrier/ THATEHT ST4T UR 8T Ht §
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4. Virus can be grown on the chick embryo/H‘ﬁ% Yol Wﬁw Yo forar s gopar 8

Correct Answer :-

« Virus is not found in scab/ qﬂ@ﬁﬁ'&@:ﬂﬁﬁlﬂ?{%

38) Recommended dietary allowance (RDA) can be used at various levels as
a basis by policy makers as well as industry as-/ Hifd fFmtarsif ek I gy
faftra Wi W srgRifTa smerty Srgufd (RDA) Fi TR & FU § YA faar o1 qvar 3
Hife-

1. It provides guidelines to understand the essential nutritional requirements for
energy and other nutrients as per physical activity, physiological status, age and

sex/dg IR AfehadT, IRR fharate U, oMy, Td e & AR SHoll T 3 UIve dcdl
P IS NV Jigfl IR arsit ol HsH & o fewn Ry e ol §

2. It helps in knowing an individual and his behaviour/ 3O Afad 3R IYP AR &I

WA # Hag et §

3. It provides recommendations for undernourished, obese or sick people/ dg ?Eﬁﬁ?[,

TICTURRG g1 TR dRT & fo SRS Uee
4. All of the above/ :«rmjaamﬂ

Correct Answer :-

« It provides guidelines to understand the essential nutritional requirements for
energy and other nutrients as per physical activity, physiological status, age and

sex/dg IR AehadT, IRR fharets U, 3mg, Td el & AR SHoll T 3 v dadl
D ATTIS YN0 Jraf TaRgharsii o1 Irag & forg fazm A= yem ot 8

39) For prevention of osteoporosis and fractures vitamin D nutrition is as

important as that of-/ a@mﬁw (m) 3R arl@mwa%ﬁwum%m
faeTfi D diwor Sa= & wewyet 8 e ___ diwor:

1. Vitamin A/ faeifia A
2. Vitamin E/ faerf®= E
3. Vitamin K/ﬁ‘cT&F[ K
4. Calcium/ SicRad

Correct Answer :-

« Calcium/ Sk

40) Foods used to enhance the nutrients present in a person's diet or menu

is known as-/Jfqd & ATER AT JAt A IURRIT WS Tl i ATAT ggM & ¢ Wgad
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1. Supplementation/ JYRUI
2. Complement/ YR

3. Subtraction/ Id&h A
4. None of the above/mfﬁ 73 aﬂ‘é Te?f

Correct Answer :-

« Supplementation/ AJYRUI

41) Iodine deficiency in adults could result in:/ TIH] # TSI Pt HHI
IUF TR JHd! &

1. Goiter with it’s complications/ 98T 3R I Sfeaany
2. Coronary artery disease/ gad ST o T

3. Dyslipedemia/ feafefuSifar

4. Megaloblastic anemia/ATdlsdTRe® THIHAT

Correct Answer :-

. Goiter with it's complications/ T8 3R 3! Sfcadng

42) Which condition can result if the calories particularly very low in the
pregnancy, the result is poor energy supply for the fetal brain, possibly

leading to decreased brain development:/af¢ THIGRIT § faRiv =0 & Fa ot
HTAT 9gd $H gl al Bi-41 AT Iz gt It 8 e ufvonueasy mibkw Ry &
ARap $ Hul Pt ATYfd ge aArdl g 3R oo afirss &1 fdewr w0 -1 g 8:

1. Apoptosis/ LTI ISES]

2. Diverticulosis/ fagfedr (SEaflégpaiRi)
3. Ketosis/ ®IcIRMg

4. All of the above/quTﬂ ekt

Correct Answer :-

« Ketosis/ CAMIEES]

43) Which one of the following diseases is not caused by bacteria?/ ERC R

SI=-91 A7 Sharvgai Ry el gar 82
1. Tuberculosis/ &3 I (TR AIN)

2. Cholera/ %GIT
3. Tetanus/ feeag
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4. Influenza/ ORI

Correct Answer :-

« Influenza/ SRS

44) All are true about measles except:/ @HR & T # 394 A fHA S AW
gt ac 2

1. Incubation period of 10 to 14 days/10 ¥ 14 f&Af P JAThga 3@fy
2. More severe in malnourished/ ?Cﬁfﬁ?ﬁff 3fep TR
3. Subclinical infection/ T&UTI JhHUI

4. Secondary attack rate is 30%/fgdId® 3THHU &R 30%

Correct Answer :-

. Secondary attack rate is 30%/fgdd® 3ATHHU &R 30%

45) When a pregnant woman has prenatal tests performed, the doctors are
not looking for which potential problem?/ si§ Madt afgan uga-yd wigror wwardt
? a9 fufe~re few gnnfaa gun &t ger § 981 gq 32

1. Mumps,/ HUIARNY/ TGS (HH)

2. Down syndrome/ 8131 ﬁl@'ﬁ

3. Sickle cell anaemia/ Rifda I TN
4. Spina bifida/TIST STEfthel

Correct Answer :-

« Mumps/ SR/ TS ()

46) The primary and most efficient Pro-Vitamin A or carotenoid is the:/ &1

3R ITH g8 M-faerfi A a1 FAeTEs ©:
1. Alpha - carotene/ W—m
2. Beta - carotene/ Sicl-HRIcH

3. Gamma - carotene/ TMHT-BRICH

4. Cryptoxanthin/ IEQUSIRG]

Correct Answer :-

. Beta - carotene/ SIeI-BIEH
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47) The recommended dietary allowance for folate for a pregnant woman as

per ICI\%/IR 2010-/ ICMR 2010 & 3R THadt Wi 8 wide oI R e
AT &-

1. 500 micrograms/day/500 HZeH U/
2. 400 micrograms/day/ 400 ATSH o/ feq
3. 300 micrograms/day/300 g rmH/feA
4, 350 micrograms/day/350 A/ fea

Correct Answer :-

« 500 micrograms/day/500 ARHIUH/feA

48) Why are non-immunized school age children often protected from
vaccine-prevented diseases such as diphtheria, measeals, and polio?/

faemerdt omy ara sruferféa a= wra: dRAA-fARIfE A, 99 fewitfar, @R ik aifemat
nfe & [ =t T5d &2

1. Because they are still protected by maternal antibodies/ Fife 39 THT f ITHT ATl

3 e wudierel ST & HR @ T §

2. Because these diseases have been eradicated/ Fiifdh 3 AT HI HHA ¥ fovam s Ecal
g

3. Because the majority of children are immunized against these disease(HERD

immunity )/ e e o= 39 I & favg uferférd 81d 8 (HERD ufavem)

4. Because such diseases exist only in under developed countries/ i T T Had
3ifaeird =i & Hive §

Correct Answer :-

« Because the majority of children are immunized against these disease(HERD

immunity)/ &P e o= 37 A7 & favg uferféd g1 € (HERD uferan)

49) Which of the following characterize prenatal development?/ 38 9§ $i9
wqq gd faer &1 srfiraeror 82

1. It is the shortest stage of the human life span/ I8 HMd SHad-HTd ® T DIcT aRAT

g

2.1t is a highly critical stage in human development/ I8 T4 fd®T &t d8¢ A AR

3. It is the stage during which most development occurs at the most rapid rate/ dg dg

ey § e SR 3ifiresier faera ged aw i 4 gt @
4. All of the above/3udad I+

Correct Answer :-
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« All of the above/3Iudad I+t

50) Carriers are associated with transmission of disease in all except:/ ERL

fr Stsar Aw Jft A & TR F A1 A5P TG B
1. Cholera/ gl

2. Typhoid/ CABISS

3. Diphtheria/%@ﬂﬁm

4. Measles/dd3]

Correct Answer :-
o Measles/TIRT

51) Which of the following disease is caused by protozoa?/ Eﬂ'ﬁ T HIH-IT 7T
WSS & HIRUT gl 82

1. Malaria/ HaRT

2. Hepatitis/ gUcTsfcy
3. Typhoid/ Wﬁ?{g

4. Diphtheria/ femiifea

Correct Answer :-

« Malaria/ HARAT

52) After getting a vaccination-/ AR TEME F 9% -

1. The body never lets the same virus into it/ TR IT fauT] B! Tad F Hofi-oft arT ga=
e B AT ®

2. The body always becomes ill for a short time/ X IR AR ah%_“ér JUg & fore SiHR 8t
ST §

3. The body gets used to a weaker form of a virus/ IR ﬁ'ﬁlTlI[ & &Fa&l'lﬁ HAGIR BY BT
3V B 9Tl &

4. None of these/ sﬂfr q ﬁ%ﬁ el

Correct Answer :-

. The body gets used to a weaker form of a virus/ TRR ﬁ'&TQ[% @&WWWW
3V B oIl &
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Anaemia in our country is essentially due to-/ UK o1 H Yareqdr (E;ﬂﬁl'QT)
q@&Ta: & HRU I

1. Calcium deficiency/ ik ) HH

2. Iodine deficiency/ SMAISH BT HH

3. Iron deficiency/ 3TGR &1 HH!

4. Phosphorus deficiency/tb‘vl?qﬂw Pl HHI

Correct Answer :-

« Iron deficiency/ 3TORA &1 HH

54) An important nutrition problem among preschool age children that leads
to various degrees of growth retardation is known as-/ GafdeTerdt 3R] & I= |
BN aTelt TP Aecayul Wivur S Iuwn o fafis waR & gfs ae Saa sl 2-

1. Protein Energy Malnutrition/ WcH STl HUISOT
2. Energy Malnutrition/ 3Sil HUINUT
3. Protein Malnutrition/ WIcIH $UIyur

4. All of the above/ SIRIFd & ¥ P Tal

Correct Answer :-

« All of the above/ SWRiad & 4 &I gl

55) How are diseases and illnesses often caused-/ I 3R STHIAT Urg: foyg
UPR 8d &2

1. By vaccinations at a too early age/ §gd &1 BIc! 3 H dadii- avram™

2. By bacteria and viruses that attack our body/ TR TRR TR THH B aT@f\_rﬂaTqéﬁ
3R faumopeft &

3. By antibodies that get into our body/ AR YRR H YaRI U1 4 dTdl Todiaial 4
4. None of these/37H ¥ P18 Tl

Correct Answer :-

« By bacteria and viruses that attack our body/ AR IRR W ATHAT HA dTd Gﬂmvge-ﬁ
3R fawmopaft &

Topic:- Grad_General Knowledge and Logical Ability

1)
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How many rectangles are there in the following figure?/ ﬁ?éﬂﬁﬁfﬁ 3ad i
=T fopat 82

/"_—:

1.7
2.6
3.8

4.9

Correct Answer :-
« 9

2) The salaries of A, B and C are in the ratio of 1:3:4 respectively. If their
salaries are increased by 5%, 10% and 15% respectively, then their
increased salaries will be in the ratio of:/ A, Bd4I C & dd1 BT SIJUTd PHRT: 1:3:4
21 af¢ 31 a9 H BT 5%, 10% TUT 15% B gk B T, a1 31 §¢ §¢ da &1
HUT: UTd SIT:

1.20:66:95
2.21:66:95
3.21:66:92
4.19:66:92

Correct Answer :-
e 21:66:92
3) Auto clipart is a feature that :/3iiel f&ausnd vs fagiyar @ -

1. Automatically places clipart in your presentation / Wdifeld ¥4 Y 3M0P UoicxH |
faagand srear 8

2. Scans your presentation for incorrect spelling in Word Arts objects / CES) &HZFH
3ffsoiaeg H TTad o=t & T 3! Ui 1 Wpl PRl §

3. Scans your presentation for incorrect spelling in your words on each slide/ Tdd

WIES W Y el H Tad ad-t & 1T MU URdfd & Ih- &l §
4. All of above/3Iudad it

Correct Answer :-

« All of above/3udad it
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4) A train X starts from a place at a speed of 50 km/hr. After one hour
another train Y starts from the same place at the speed 70 km/hr. After how
much time will Y cross X, after starting of X? / E&TW X T{EFWF-T'@ 50 el
He PI A T T YR Fcdl ¢ | TP He q1¢ gt YS! Y Sl R & 70 frwi/ae &t nfa
T I TR PRl g| IS X & YR 9 & fha=t 904 91 Iamel v, YS! X it R

A2

1. 3 hour/ 3 Te
3 3

2. 24 hour/ 2¢dc
1 1

3.32 hour/ 326¢
1 1

4,24 hour/ 2¢ Tc

Correct Answer :-

1 1

. 3E hour/ BE‘J%

5) How many members are there in the State Commissions for Protection of

Child Rights? / arer srfaeTi & |2&ror & forg o7 srann § faha @ee g1 872
1.4
2.5
3.6

4.7

Correct Answer :-

6) The selling price of 10 objects is equal to the cost price of 8 objects. Find
the loss or profit percentage. / 103@3?[%@‘!111?& SW%W&F&%W%I
AT 91 819 & % JTd PIford|

1. 28% profit/28% @H
2. 20% loss/20% BT+
3. 23% profit/23% Yy

4. 31% loss/31% 8T+

Correct Answer :-

« 20% loss/20% BT
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7) Scurvy is a disease caused by deficiency of -/ foaet S A wdl AT Eﬁ?ﬂ %
1. Virus/ ﬁ'qu'{[

2. Presence of Rh antigen in blood/ Rh Ut bt IUTRIfcT g L}

3. Ascorbic acid or vitamin C /Wﬁ? 3 1 faetfiq ¢

4. Vitamin E / faeT#H E

Correct Answer :-

e Ascorbic acid or vitamin C /Qﬁb—lﬁ? 3/ g1 fgerfiqa ¢

8) DIRECTIONS: Which of the answer figures is exactly the mirror image of
the question figure, if a mirror is placed on the line MN?/ faden: e o @ @i

IR AP U= pfa o1 gdor ufafaa ghft afe va qfor ¥ar MN &R 3@ s

Question Figure /W95 HIHHd
M
N
Answer Figures / 303 31@%'-5!‘{

A AN A

(1) (2) {3) {4)

1.1
2.2
3.3

4.4

Correct Answer :-

9) Which of the following schemes was also launched along with the launch
of Swachh Bacche Swasth Bharat? / % & ¥ &9 TISMHT & 9T 95 9g T9€ 9T &7
CIERERIRI I

1. Kayakalp/ s amsea

2. Swachh Swasth Sarvatra / == T+ 994

3. Swachhta Guidelines for Public Health Facilities / aTasta Tare=g glagrsi & o Ta=gar
lENIEEN]

4. Swachh Bharat Abhiyaan / =g wea 9=
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Correct Answer :-

« Swachh Swasth Sarvatra / &= Tae q49

10) To which of the following is the Hindu Succession Act, 1956 not
applicable? / R sTfesr afaf=aw, 1956 = & & fod saral 9 @] 2raT 82

1. Sikhs / TR FHIST 3 AT

2. Scheduled Tribe / ST AT
3. Buddhists / sitgt

4. All of the above / 3=k T+t

Correct Answer :-

« Scheduled Tribe / sIgg =@ AT

11) The average age of boys is twice the number of girls in a class. If the
ratio of boys and girls in a class of 36 is 5:1 respectively, what is the total
ages (in years) of the all-boys in class?/ U& $&T H ds®! @1 3NTa 31g asfeal ot
BT & L 21 afe 36 BT 3t F& § ds! MR TSP B JW=AT ST 3rJuTd HHI: 5:1 7,
o HeT & It sl B Fa g @ H) ;T R?

1.490
2.196
3.420

4. 360

Correct Answer :-

12) IPV6 is in which format:/3sildl 6 f5a uRsg # T
1. Hexadecimal format / goT SUHA URSY
2. Octal format / 3ilacd =T

3. Numeric format/ ?@W IR

4. Alphanumeric format/ &cwldiﬁli\{dv U=y

Correct Answer :-

« Hexadecimal format / 3391 SHHd URsU
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Which one of the following options is/are not true? / % & & ®=aT fAweT gt 78l
g?

1.

4.

The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance
from a joint Hindu family/ &= STTterame sfafaaw, 1956 afedt &l UF H<h (grg Ia &
Faer StTfaewT 7 srferespTe /v ahcY @

. The Hindu Succession Amendment Act, 2005 gave daughters the right to

inheritance with her male siblings / &g STCTa=E Fertee sTfafaaw, 1956 & gRT AfedT &l
I AT % AT e v erteeR vere R

. The Supreme Court in 2010 ruled that daughters whose fathers died before

September 9, 2005 however won't be applicable for the Amendment / 2010 & i
FIE 7 Ag FATAT =l o1 At % foar &1 g7 Frawa 9, 2005 F IF g0 8, a8 =9 S9Te+ g Y&
TR T SrferRTe 3 YT A8l

None of these/z#% & #Is A&l

Correct Answer :-

The Supreme Court in 2010 ruled that daughters whose fathers died before
September 9, 2005 however won't be applicable for the Amendment / 2010 & Tsfi=
FIE F Ag FqTAT =l o afeai  foar &1 g7 Frawav 9, 2005 F Id g3 8, a8 39 S97e+ g1 &
TR T TR o YT A8l

14) Since which year did the recent Juvenile Justice (Care and Protection of
Children) Act come into force? / el T fHelX =TT (ST T @ [T FL&qor) Afeaaw
g a9 & 9T T 1AT?

1.

2.

3.

4.

2014
2015
2016
2017

Correct Answer :-

2016

15) The number of embryonic membranes in human is-/HJ | Horg m P H@AT gt %’-

1.

2.

3.

4.

2

3

4

0

Correct Answer :-
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16) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / f1d=1: fFFrafaRaa vy ¥ vyares g (?) F M
TR ST P T AT STET?

? = 43,985 <+ 10.98 x 9.032
1.0.5
2.10
3.36

4. 45

Correct Answer :-

. 36

17) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / e frafafad uy o usars e ) & R
TR THI DI AT A T2

? = (19)2 x 18.5 + 22.48
1. 6500
2. 6701
3. 6850

4. 6725

Correct Answer :-

- 6701

18) Which of the following ministries launched the Vanbandhu Kalyan
Yojana? / 7 & & FI99 HATAT 7 e FHATIT ST HT M Fhar?

1. Ministry of Tribal Affairs / ST FTF HATAD

2. Ministry of Environment, Forest and Climate Change / 9aTa<ul, a9 3T SToay T&dq
HATAT

3. Ministry of Social Justice and Empowerment / HTHTRI =T i< stferapriar §amaa

4. Ministry of Rural Development / aTHfior farermer w=merr

Correct Answer :-

« Ministry of Tribal Affairs / ST FTF HATAD
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19) Swachh Swasth Sarvatra is an initiative of: / T=g Taey ad= A% & ¥ et wga

37

1. Ministry of Drinking Water and Sanitation / Ta<T i Fa=gdT €T

2. Ministry of Health and Family Welfare / T 3T 9RETT FedTo0T H3TAT

3. Ministry of Drinking Water and Sanitation and Ministry of Health and Family Welfare
jointly / TISTeT T Ta=gdT HATAT U TTe 3{¥ TRATY FATT HATAT

4. None of these / 9% & FIE 7l

Correct Answer :-

« Ministry of Drinking Water and Sanitation and Ministry of Health and Family Welfare
jointly / ToSTeT 3% Ta=gdT HATAT UF FATES 3T THATE FHedAT0 HATAT

20) Which of the following will come under ‘dowry’ under the Dowry
Prohibition Act, 1961? / == At srferfeaw, 1961 ¥ siasia s & & &war ‘Tgw § R
STUIT?

1. Property or valuable security given or agreed to be given either directly or
indirectly by the parents of the bride to the bridegroom / geg+ & aTar-foar g1 38 *
T wearer 3T sterer =T & QAT ST ATt aFqT A7 qeAaTT STa i AT aFT AT & i A 2T

2. Property or valuable security given or agreed to be given either directly or
indirectly by the parents of the bridegroom to the bride / S7g & ATaT-{UdT =T ZogT *
T sreger AT sTrerer ®9 § 33T ST ATt SRA AT eAaTd T T a7 AT & &1 TSI gier

3. Both of the above/3q9<ra AT
4. None of these/za® & < gl

Correct Answer :-

« Both of the above/3uar=a =1

21) How many components were there in the National Social Assistance
Programme when it was first introduced? / TTHT TTHTRGE TETAAT FTAFH ST T
EEURERCEREREEERER Y

1.2
2.3
3.4

4.5

Correct Answer :-

e 3
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22) Thesaurus tool is used for in MS Word. / THTYH a8 ® Thesaurus od
T YT ¥ fore fomar wimaT 21

1. To correct the spellings / Wi T8l H & forg
2. To search a text / TRE @A & folg

3. Tips for spelling / a1t & forT g

4. None of these / $1H ¥ ®Ig gl

Correct Answer :-

« None of these / Eﬂ'ﬁ@fﬁ%:@

23) Twenty men or thirty women can complete a work in 40 days. In how
many days will the 24 men and 24 women together complete the same

work? / 20 T3 9T 30 HigaTt U &1 &I 40 feA1 & o% Td g1 24 Afgart v 24 wy
THATY I B Fi foraq fel o & 9wa 32

1. 30
2.40
3.60

4. 20

Correct Answer :-

24) In which year was the Right to Education made a Fundamental Right in
the Constitution of India? / WIdi¥ SfaeTa & fveAr STferpT< T Fiferd sriganT fohey a9 &
FEATIT AT AT?

1. 2008
2. 2009
3.2010

4. 2011

Correct Answer :-

« 2010

25) Haemoglobin is:/ SRS & TP:
(i) The colouring matter of leaves of plants/ Ug Ulgul # IUfRYd T TN uerdf &

(ii) The colouring matter of blood / ¥&d &1 Tfi9 uarf &
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(iii) A compound that is highly coloured / T& 3= Tfi9 yard &

(iv) A compound that contains iron / T® 34 god fH &
The correct answers are: / I 3tR g

1.1, ii and iv

3.1, 1i, iii and iv

4. 1, i1 and iii

Correct Answer :-

26) The antibiotic 'mitomycin' is used to treat certain types of: / ﬂ'l'&'gaﬁ_'f Udieifa® foad 1 &1
AT A | ST Pt ST §:

1. Cancer/ W T
2. AIDS/ TgH

3. Polio/ TIferAN

4. Syphilis/ TTHe

Correct Answer :-

e Cancer/ W ﬁT[

27) Which state was the first in India to introduce Mid-Day Meal Scheme to
increase the number of kids coming to school? / 9T=a & &7 ¥ 1T 7 =t §

AT TG T AT H g AT & TorC -8 de TS T sy i o2

1. Gujarat / s@ra
2. Maharashtra / #g1g

3. Tamil Nadu / Tfeer a1

4, Karnataka / #ie®

Correct Answer :-

« Tamil Nadu / af#e 91

28) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements. /=1 - fT 7T wx A 0 FY 3R 3P 18 $© Frepd faw 7w &1 st
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feu T Y ® GG AT 8, WA §) @ gdyrd aa = udia g1 8 1 3 et 1 ufew
ﬁﬂfnj?ﬁq%ﬁqwﬁwﬁﬁﬁﬁqmaﬁmwﬁmmiﬁmaw
D [

Statements:/YH:

All cats are bats/H'l-ﬁ w,m%

All bats are tabIes/H‘l-ﬁ JHITGS, fﬁl%

Conclusions: /o :

I. Some tables are bats/@ﬁﬁ,m%'

I1. Some tables are cats/@ﬁﬁ,ﬁ%ﬂﬁ?

1. If only conclusion I follows /afc &ad fAny 1 &IT-ETUTW%

2. If only conclusion II follows/3fe &ad FshY 11 GFETUTW%

3. If either conclusion I or II follows/af¢ a1 dl fpy 1 41 11 &aﬂww%

4. If both conclusion I and II follow /afe fAsws 1 3R I1 ST R0 H%d &

Correct Answer :-

« If both conclusion I and II follow /af fshT I 3R II T SRR 6% &

29) Mobile phone uses:/AIESd B9 IUTRT HdT e
1. Full duplex/%d S&id

2. Simplex/ ey

3. Half duplex/ 8% g&idd

4. None of these/ sﬂﬁ | Eﬁ'sc:lﬁ

Correct Answer :-

« Full duplex/%d S

30) What is the ratio of Centre and State funding for establishing Ashrama
Schools in states? / fo= Toat # sy ey o @ 9 ¥ v Tox ¥ [Afgscr ¥ F=r
AT TaT §7?

1. 50:50
2.60:40
3.70:30
4. 80:20

Correct Answer :-
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31) Vishal walks 2 km towards South. He turns right and walks 3 km, and then
he turns left and walks 5 km. Further, he moves 2 km after turning to his left.
What is the total distance travelled by Vishal?/ mzwmﬁiﬂﬁm
21 98 ¢ ge e 3 frtt gaar 3, fisv a8 a1t goar ? 8k 5 fret gaar 31 ok sia d ag aiw
geox 2 fft aear 81 fazma g1 9u it it $a g feast 32

1. 7 km/7 Tt
2. 12 km/12 fouit
3.5 km/5 foeil
4.10 km/10 foodit

Correct Answer :-

e 12 km/12 foHT

32) What is the shortcut to open the File Open dialog box? /WTSd 31U AN
qied B U HA & Y Aewe B o9 Al 32

1. Alt + F12
2. Shift+F12
3. Ctrl + F12

4. F12

Correct Answer :-

« Ctrl + F12

33) DIRECTIONS: Find out missing number from the figures given below./

foréw. < & it erreforat # g T wiTd P

48 202 105 191

1.6
2.9
3.13

4.2

Correct Answer :-
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34) The difference between compound and simple interest on a certain sum
for 2 years at 5% per annum is Rs.55. Find the sum. /m‘:ﬁ QIlQIWW@W
TUT ATYROT TS BT 3R 2 U A 5% Ufaad o1 g3 A .55 81| AU J7d B |

1. Rs.18000/%. 18000
2. Rs.22000/%=. 22000
3. Rs.19000/3. 19000

4. Rs.25000/3. 25000

Correct Answer :-

« Rs.22000/3. 22000

35) With respect to the Child Marriage Act, 2006, find the incorrect sentence
out of the following options. / st faaTg srfafaaw, 2006 F Trefaa A= faedi § & Toq
foreeT &7 =797 FY)

1. This law is also applicable to citizens of India beyond India / 7g sfafa=w 9<a & arg<
AT AR 9T AT A0 &

2. This law is applicable to whole of India, except Jammu and Kashmir / 7g stfarfare
STHY 3T FEHIT % STATAT X 9 H AT &

3. Both of the above/3ur 24T
4. None of these/za® & &S gl

Correct Answer :-

« None of these/z ¥ & #T< 72

36) DIRECTIONS: Choose the missing terms out of the given alternatives./

fArdr: fog e fasedl # & g uel &t 91 &7 |
_bb_c_bg_b_g

i.cbgbc

2.cgbchb

3.cgbcc

4.gbcbb

Correct Answer :-

e Cgbchb
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37) Which of the following methods cannot be used to edit the content of
cell?/ fFafafaa faftmi 9 @ o9 @ Ja &1 dde o Jurfed F & g uahT =8 fea
ST AHdT 32

1. Pressing Alt key / Alt $oit GaThR
2. Pressing F2 / F2 QdI®X
3. Clicking the formula bar / BT IR &1 fad® Hdb

4. Double clicking the cell / Id I S fadd B

Correct Answer :-

. Pressing Alt key / Alt $Gil GaTHR

38) In which year was the Ministry of Welfare bifurcated into the
Department of Women and Child Welfare and the Department of Welfare? /
FNY 9 § FHEATT FATAT T HigoAT TH ST (A8 AT AT FoeqTor s § fors=s forgr w372

1. 1984-85
2. 1985-86
3. 1986-87
4. 1988-89

Correct Answer :-

« 1985-86

39) The Persons with Disabilities Act, 1995 ensures the Right to Free and
Compulsory Education of persons with disabilities until years of age. /

e =t srfarf=asr, 1995 W siasta FUT & IT T [AHATT ATHAT % o1 79[ Ta
srferaTa fereT T srfgre fear T 8 |

1. 16
2.17
3.18

4. 19

Correct Answer :-

- 18

40) What is responsible for metamorphosis?/hATTd 0T aiﬁl'll W élal %—
1. Estrogen/@ﬂ@a:f
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2. Thyroxine/?‘IET\lqu
3. Parathormone/aT[ i

4., Glucagon/‘w_'[
Correct Answer :-

e Thyroxine/ YTSRITRI

41) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women cannot be called ‘Sati’?/ gt afafy (Twemw) stfafaaw, 1987 %
a4 & F e AigATsl I TAT 6T AT § T@T A5l 9T GhdT 872

1. A woman being burnt alive along with the body of her relative voluntarily / Ts wfgar
TSTAhT ST9 e q¥aeell % g % AT 37 TAog T a® ST [4d7 ST TET &

2. A widow being burnt alive along with the body of her deceased husband forcibly /

e g ST 199 gae Tf ¥ I8 % 97 Ta<aedt ofofT (&a7 ST W@ 8
3. Both of the above/3q9<ra AT
4. None of these/z® & FIE 21

Correct Answer :-

« None of these/z ¥ & #T< &

42) Who decides the order of priority of work in MGNREGA? / =TT & FTH &
T THRAT T FH T R [0 4T 82

1. Central Government / &g a1

2. Ministry of Rural Development / ITHToT fahTe #ame T
3. State Government / T5T %X

4. Gram Sabha / a9 54T

Correct Answer :-

« Gram Sabha / 919 79T

43) To create a new table, in which method you don’t need to specify the

field type and size?/U® T3 dTfa®T 9411 & forg, 5y ugfa & sy wWits yoR i
PR Y B FY Srrazgepdr 6t 82

1. Create Table using wizard /{3 & gRT e&d ST

2. Create Table by Entering data / SIcI QEj & 1Y ¢&d ST

3. Create table in Design View / i\suﬂ{d Glff oI ST

4. None of these/ ?Fl'ﬁr J ﬁ'ﬁ‘ T8l
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Correct Answer :-

« Create Table by Entering data / SICI Q§°f & 1Y & ST

44) “Food grains” under the Food Security Act, 2013 does not mean:/ @1
T Aferf=aw, 2013 F AR 6 & § FHIA9T “@rar=” & a3 qal Sar?

1. Rice / =ma«
2. Wheat / g
3. Coarse grains / 1 AT

4. Pulses / 31t

Correct Answer :-

« Pulses /3T

45) If the numerator of a fraction is increased by 200% and the denominator
1

is increased by 400%, the resultant fraction is 120, What was the original
fraction?/afe T fd 3T 31 200% TEMAT ST 3R T 400% TTAT 1T df Ufvomd fars 1
1

20 g | et st e ur?

3
1.14

46) Which answer figure will complete the pattern of the question figure? /

e o 3 3t Y SR spfa wy snpfa &t guf wvft?
7 TN
=

*@V ¢ _%JJQJA

(a) b} ( (d
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2.b
3.C

4. d

Correct Answer :-

- d

47) How many districts have been selected for the Beti Bachao Beti Padhao

initiative? / &t T=Te & TRt Ugw o forw fhaw et v AT 4w 82
1. 50

2.75

3.100

4. 125

Correct Answer :-

« 100

48) Insulin controls: / Eﬁﬁlﬁ frifia sear &
1. Todine level in the thyroid / USRS T HTATSH I A

2. Amount of iron in the blood / Iad H ?‘ﬁ% CAREIE]]

3. Level of sugar in the blood/ Ydd T RIHT B AT

4. Level of urea in the blood / 3 Ec[ﬂtﬂ DI AT

Correct Answer :-

« Level of sugar in the blood/ ¥ad H T P AT

49) Identify the diagram that best represents the relationship among mobile,

television and electronics./ T8 3R T &t AIaT5d, eifaw iR sAT P & Heg
e HaY BT FSRegor war 31

O
I |

1 he e W)

, (@
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Correct Answer :-

50) The formation of archenteron starts in/x'ﬂ'lhﬁ':l BT 99T URH @T‘IT %—
1. Morula/ A1al 9

2. Blastula/ SIIRG3AT q

3. Early neurula/ URIY S ool q

4. Early gastrula/ URIYS ﬁ@?ﬂ |

Correct Answer :-

« Blastula/ ARG I

51) DIRECTIONS: Study the following pie chart carefully to answer the

question given below./ f-d=r: fFrafafEa urg aré &1 seagd® sieaa= - i feu e uy

& I STl
Percentage wise Distribution of students in six different Schools./6faf{a
ool ® wfo=araR sl &1 faavur
Total number of Students /% BTl B JBAT = 6000
schoo! /R F,N RMIT 5
School/faZUTHT B8, 9%
School AT
29%

School fag@@a O,
18%

What is the difference between the total number of students in School-F and

School-E?/ faemed F 3R faemed E & oo o it G- & «r $idr 32

1. 1820
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2. 1860
3. 880

4. None of these /378 J ®Is gl
Correct Answer :-

« None of these /370 T PIs gl

52) How many Adarsh Grams have to be developed under the Saanjhi
scheme till 2019 by each MPs? / Y% igal gT<T Gis(t THT & siavia a9 2019 T Foha=r
TSt AT FT FAHTE FLAT T2

1.2
2.3
3.4

4.5

Correct Answer :-

e 3

53) Anil introduces Rohit as the son of the only brother of his father’s wife.

How is Rohit related to Anil?/&ﬁﬁﬂﬁﬁﬁqﬁﬂﬂmﬁ%ﬁ%ﬁ 39 fUdr &t
Uil & THATT UTS o1 O 81 Afeq, oifa A 5 ver awifia 82

1. Cousin/Eb‘%FT
2. Son/4d
3. Uncle/dTdl

4. Son-in-law/<qlHlg

Correct Answer :-

. Cousin/?ﬂ%ﬂ

54) This disease is caused by the deficiency of protein. Can you identify it from the given options?/

W &1 Bl F P91 A9 gt 8,1 fawen Tae vganfwe

1. Goitre AdIgCR (ﬁ"en)
2. Kwashiorkar/ STRISNRBR

3. HypokalemiafE:'TEIW'm
4. Dermatosis/ SHE IR

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

« Kwashiorkar/ ®TRIRB

55) If 'Bus' is called 'Aeroplane’, 'Aeroplane’ is called 'Train' and 'Train' is
called 'Ship’, then 'Jet Airways' comes under which category?/ gfe 99" 9l

"fuT et SITaT 8, 'fAmTT # e T T 8 SR e &Y 'SgT $el Tl §, 9l 'S
TIRaw fow ot & smat g2

1. Bus/s¥

2. Aeroplane/ﬁ'ﬁﬂ:r

3. Ship/SgTsT

4, Train/éff

Correct Answer :-

. Train/éff

Topic:- Grad_Managerial Skill

1) is a process of receiving and evaluating information about our
behaviour:/ , TN AR & IR H TSR e A R Geidd B B
uferar %:

1. Channel/ H1&9d
2. Message/ R

3. Feedback/ B8e® (JAMHATM)
4. Encoding/®1ed (TRITST)

Correct Answer :-

. Feedback/ ®I8s® (TAHARM)

2) The leader required in extension work is ./ foeR ord A smawgs

Aqadpais

1. Caste leader/ SITfeTd Adl

2. Local functional leader/ ®I1g BT a1
3. Lay leader/ 3f&iférd Aiq@mal (3 dex)

4. Religious leader/ s Aar

Correct Answer :-

. Local functional leader/ QI SR AdT


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

3) Groups are classified into primary and secondary group

by :/ RT 9El & iyl ud fidias gl # wifea fear mar 3:
1. Summer/JH

2. Cooley/ el

3. Mac laver/ & daR

4. Karl max/Eb‘IFfflTﬂ

Correct Answer :-

« Cooley/ Fait

4) is the planned display of models, specimens, charts, posters etc.
aimed at instruction, judging in a competition, advertising or

entertainment. /&t uﬁm%ﬂ’, fagmua an AR § ﬁ%‘«’féﬁ, ol ?ﬂﬁ/&ﬁ'ﬁ W
afera arsal, TA1, arferere, Nt onfe & o wexi= &t PEd B

1. Field trips/ &3 Tm=MT
2. Exhibition/ Uyt
3. Poster/URex

4. All of the above/3 TR & JH

Correct Answer :-

« Exhibition/ TR

5) Community development blocks after completing the scheduled period of
operation were called :/ara o fuffya eafy I\ﬁ PR A1 & 9Ie qYaly
foorg TSt # Pl 1T oT:

1. Traditional blocks/ IRTR® TS
2. Post- intensive blocks/ JU9-UYTd WS
3. Modern blocks/ 3% Tg

4. Intensified blocks/g-1Yd ©s

Correct Answer :-
« Post- intensive blocks/ T99-UYTd We

6) Group discussion method works best in : /g T4t fafy |
TdAg Bt BRAT B:
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1. Tense and inhibited atmosphere/ d-Td¥Rd Ud AP II'I?I?T
2. Permissive and inhibited atmosphere/ TWdadgit Td 3faRIYUS ARG

3. Group haring democratic and permissive atmosphere/ Qe dife Td WaFaerl arera
CIGKIECH

4. None of above/ B“Cl?iTﬁ T ¥ I a8l
Correct Answer :-

« Group haring democratic and permissive atmosphere/ Aedife Td Waaaerll arera

CIGKSE
7) Community development projects were launched by AR 1K)
o avaieAe _ g7 3w 3t Tt

1. Pt. Jawahar Lal Nehru/ Uf&d SaTeR dld A8

2. Dr. Rajendra Prasad/ 3. Iig U9TG

3. Dr.C. Rajgopalacharya/ €. T, Jsmararemd

4. Sardar Bhallabh Bhai Patel/ TRGR Sca@y YT Ucd

Correct Answer :-

« Dr. Rajendra Prasad/ . I6i% UG

8) Two decoding skills are:/ & SiHIsd I &
1. Writing, listening/ oG, 49U

2. Reading, listening/ Ud-, 4dul

3. Writing, speaking/ @“@Fr, GICE]

4. Reading/Ue-l

Correct Answer :-

« Reading, listening/ Ud-, 44Ul

9) On the basis of nature and quality of social interaction groups has been
classified into:/ ATHTN® 3=IfhdT ®I UPHId TF UEHT & SATUR TR TYZI DI |
Tiffpa far mar &:

1. Primary and Secondary/ Ui Td fgdias

2. Genetic and Congregate Groups/ &Hﬂaﬁﬁ Td ThiAd e
3. Small and Large Groups/ &g Ud fa=Id IHg
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Y N

4. Involuntary and Voluntary Groups/3fs® Td Ufess g

Correct Answer :-

« Primary and Secondary/ Uidfi® ©d fgcdiad

10) The normal group boundaries gate obliterated in:/ ¥ 9T qYqg
HHTE / R 99T B 9T #

1. Method demonstration/faf¥ &=

2. Farm and Home Visit/%iH Td TR W JabTd
3. Office Calls/®TaTed Hid

4. Campaign/31f3ar

Correct Answer :-

« Campaign/ 3=

11) The type of leader who has received specialized training and is paid for

the field wok is called :/ Aq@®di (A1) BT 98 YR o fa=iw ufreror frem
2 3R R & »rd & e YA fearSrar®, _ Peardar e

1. Autocratic Ieader/ﬁ@‘ﬂﬁ?ﬂ

2. Lay leader/3fdiférd Aqadd! (o die)
3. Professional leader/ ORIaR Aqdddl
4. Democratic leader/dldbdiAd Adl

Correct Answer :-

» Professional Ieader/ﬂ"-‘ﬁfﬂﬁ?ﬁiwcﬂC

12) The degree to which a communication source is perceived as trust
worthy:/ &5 JOR Hid fHg TR a9 fAy-g 91 ST € 98 W)

1. Active listening/ Ifdhd oaur
2. Credibility/ fayg-tadn
3. Interpersonal/ 3iddafaded

4. Passive listening/ s sqor

Correct Answer :-

« Credibility/ fayg-taar
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13) The term “community development” appears to have originated from
at summer conference on Africa Administration:/ I “gqqr fasra”,
IHH WA R AwFTRTTRaTd 9 Froar vl aar 2

1. Cambridge/ Hfoe

2. San Francisco/ 9 hif%en!
3. St.Louis/ ¥¢ TH

4. Geneva/SHdl

Correct Answer :-

. Cambridge/ &fas

14) Extension methods which reach large number of people in a single
attempts are called:/ T&% UOTH § 981 HBAT & AN a& UgaH arelt fawar faftmi
HEaTd 7

1. Large method;/ fa=ma fafe

2. Mass method/ e fafd

3. Multi-media/ Hecl-Hifsar

4. Multi purpose method/ Sg3s=dy fafd

Correct Answer :-

« Mass method/ gdw- fafd

15) is posing new challenges at the global and local levels:/ ,

Ay oR wIFT W W A g O s 2
1. Development/ famrg

2. Communication/ ¥dR

3. Maroecnomic/ W&W

4. Growth/ q@

Correct Answer :-

« Development/ famrg

16) Which determines group life?/ 9Yg sitaq &1 fHuiRor 19 #war 82
1. We-feeling/ gH &I Tgd

2. Feeling of unity/ Ushdl &I Tgd™
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3. Common purpose/ dHI EQQCI

4. All of the above/3WR & JH

Correct Answer :-

« All of the above/3HUR & gt

17) The operational stage of community development project which was to
be completed in three year has the duration of : /9gerd fawra ufare
%1 98 U A AT of & wof Rpar s o, Y erafr @Y o

1. 3 months/3 HIg
2. 9 months/9 Hig
3. 12 months/12 HIg

4. 18 months/18 HIg

Correct Answer :-
« 18 months/18 HIg

18) Choose the most important reason among the following for failure of
rural development programme in India :/ YR # I {9y PTAHH P
fawaar &1 999 Agayul RO A :

1. Poor planning for planning/ ¥RId dig ¥ faeE

2. Problem of effective monitoring and Implementation/ UHTal fATRTH! Td FHraaad ot
JHAET

3. Lack of resources for programmes/ Sl %ﬂ IGTEET BT U1
4. None of these/ 378 T P13 gl

Correct Answer :-

« Problem of effective monitoring and Implementation/ gyTd PRI wd srataa ot

RILEESIN
19) is a traditional mode of mass communication:/ , S
TR P TR e 2:

1. TeIevision/%?ﬂﬁ\_;Fr

2. Newspapaper/ 9HRR-UF
3. Radio/ Xf&at

4, Internet/'a‘E@'c’
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Correct Answer :-

 Newspapaper/ YHHR-UF

20) The development is a process through which human and material

resources are activisted for improved quality of life and : /faeT Up
wftrar 8 foraed a1erm | Aia ve Wifaes Il & dgax Sitad Jurasn aur &
o wfera e wmar &

1. Change for creation/ §qi+ %ﬂ BIRChE]
2. Income generation/ 314 Joiq
3. Life style/ Sfigiel

4. Education in nature/ Ufd o fRign

Correct Answer :-

« Income generation/ 319 oI+

21) When the leader has no confidence in himself and believes that workers

can do the work as 1/ 9 AT (Agcadar) A eAfayT &) gar 3k 98 HI-aT 8
o srdwal o1 w3 IFd €, @ T A1 HBY Hel Tl &

1. Democratic leader/ @&bdiAd Adl

2. Autocratic leader/ ﬁw T

3. Lassies faire leader/ GIEWW adn

4. Lay leader/ 3fIfard Aq@dal (d dex)

Correct Answer :-

« Lassies faire leader/ 3161?[8'3??[ T

22) Group discussion method work best in : /g Tt fafy |
Hd9g s1d BT B

1. Tense and inhibited atmosphere/ d-Ta¥Rd Ud SARNYH II'I?IFT
2. Permissive and inhibited atmosphere/ Wdadat T4 3faR1ed HIGIA

3. Group having democratic and permissive atmosphere/ NEGIEEREESRERIFAR] e
CINKEH

4. None of above/UCPjTﬂ 0¥ PI5 el

Correct Answer :-
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« Group having democratic and permissive atmosphere/ AlpdiA® Td Waadiar] e

23) Community development block were started in :/9qer faora s
T R fra T 2

1. 1952
2.1954
3. 1956
4. 1958

Correct Answer :-

« 1952

24) Three main components of communication:/ ¥R & 9 BT U &:
1. Channel, receiver, feedback/ 1-Tl11c, m, EF[?TE[@

2. Source, channel, receiver/ %ﬁ?{, IITHC, U di

3. Source, receiver, feedback/ Hd, UTad!, Ufag®

4. Source,channel, feedback/ @H, Wf, Qﬁf@@

Correct Answer :-

. Source, channel, receiver/ 9id, AR, UTcdl

25) Each project area in community development block was each consisted
of 100 villages and population of 60,000 to 70,000 : /9GSy faerg s |
Ud® UfRAIeHT &3 | 100 717 94T 60,000 I 70,000 P TS e 9

1. Three/ @

2. Four/ IR
3. Five/ U@
4. Six/ &:

Correct Answer :-

e Three/ GGl

26) P.A.Sorokin has divided groups into major types:/ W. €. Rifed = Igl &
e uprR § faurfea foear 313 8
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1. 'In-Groups’ and ‘Out-Groups’/ &Hﬁﬂ:ﬁ’ (27-94) 3R a‘l%ﬁﬂ:s’ (3{13c-Yu)
2. Involuntary and Voluntary Groups/ 35 Td Ufasd 98

3. Horizontal Groups and Vertical Groups/ é’?ﬁlﬁﬂ'{i{@ Eﬁﬂ'ﬂﬁ

4. Primary Groups and Secondary Groups/Wuflie ¥4g U4 fgdias I9g

Correct Answer :-

« Horizontal Groups and Vertical Groups/ aﬁ\_ﬂ‘v’lﬂﬁ@ E%a‘sz'

27) Group discussion is suited to which among the following stages of

adoption _______:/ 3fteur & 399 A g wur # wyg =t Suge 3
1. Awareness/ SR dl

2. Interest/ 3fd

3. Trail/ UafIg (¢q)

4. Evaluation/ Jedich

Correct Answer :-

« Evaluation/ ™I+

28) The motivational phase in training is more considered called 1/

ufreror & ag WRumerdl @R o iftres Hgea fear Siran |, Hgdrdl g
1. Preparatory phase/ JTRY TROT

2. Pre-training phase/ Q’fQT&FUT-UjElTUT
3. Training phase/ UfRI&01 TR0T

4. Post training phase/ UfRI&U-UYTd TRUT

Correct Answer :-

« Training phase/ URI&OT TROT

29) Limitations of audio visual aids are:/ TIU-40 YETAP ATHRAT /IUBIN B

e g

1. Learners may form mistaken or distorted impressions; Riemeif e a1 fapd YROMY 51
Ca

2. Temptation for the teacher to narrow down his teaching only a few big ideas not
giving the complete picture of subject/ J&MUDh BT 30 AT BT 99 DS a@:ﬁ%rr{
A qH AT B BT A SR [T $F T TR T8 o1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

3. Possible risk of ‘spectatorism’ instead of an attitude of thoughtful enquiry/ EERAIN
Sg-USdd & Y98 B SO ‘Verpare’ o1 G Sifed

4. All of the above/SWR & Tt

Correct Answer :-

« All of the above/3WR & JH

30) Which of the following is more closely related to the social inequality?/

T 9 P9 GrTfoe SR @ Sifte wefiuar & wwafRia 32
1. Social dynamics/ ITHIfSI® Tt

2. Social differentiation/ AT faHE

3. Social stratification/ ITHI® TRUT

4. Social control/dTHTSG AT

Correct Answer :-

« Social stratification/ ITHIN® TRUT

31) is complementary to the development of human faculties, traits

and human nature:/ , TG SIfaaal, d&0 9uT 741 Upfd &1/9 e 3
1. Classes/an

2. Groups/dHg
3. Kinship/ST=ral

4. Society/dHTS

Correct Answer :-

« Groups/dig

32) is probably known as ‘blood relationship’:/ P JHTd: Yo
TR’ & 9 § ST A1 8

1. Cluster/ =8

2. Clan/ @4
3. Kinship/ S=dT

4, Kith/¥dslq

Correct Answer :-

« Kinship/ I=dT
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33) A definition on “A social group is a system of social interaction” was

given by:/ “HTHTNS HYE, ATHINS 3r<fhar @ T$ Yumel 3 g8 ufyrar
gIRT &) Tt ot

1. Ogburn and Nimkoff/ 3M7Te< Td fFAHSHIH
2. Harry M. Johnson/ %ﬁ TH. NIERE

3. R. M. Maclver/ 3R. TH. Hhdd
4. Marshal Jones/HTRid Si=g

Correct Answer :-

« Harry M. Johnson/ %’f{ TH, NIERES

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd e & aFyd® yeH: 39 4 3 T sglawed! u=ai & 98t
fawea &1 a7 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

e 3t AfFa=medt, Iuaiar fFadt vd w0 @dia g1 1 §1PC wif 37 SUdiadl & $H g8 a® aHiu
It B fr aga 9 amme # Suaarsit 7 3 ge & gy fEesa vd fawRa o ol § ieaifes, s d
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T, TTal H I IUGT B P T & 1T R favgasg vd &g uTaT $ext%h a1 ST 81 gar
2139 tfaf¥ed, BTaife FTSIUR Ft ANTd ue TG &, W ATvT SguanT & fore Tarfired Y et @rra 3raft off
PTE! AP B 1 gAqH FU A ATaAD Tdl, WY PC, WISH, U RiJarger, e #t anaaurary o
TIFEATR (0S, STAY, TH ATUANT, 9 ot @r] 8Y) #) argay anTd = wR-ufaery & arFds & SMUR |,
WHR A TR T JaTE 9 H & 30 UGN BT Iy Rieg 78 w7 el §1 & Suwor ga wied!
SyEIfera 81 wrd €, SR Imiior &= # 391t IR@Ta ATTd 31t &1 I anTe TRl R S anTd fAera
UM & TR a9 Uga- & [T fHu1es Jaresd o 57 SUBVN BT SUGNT Hd gU B TID 3Td goi Tfafaferai
@i githt | v uran @ fr aga @ wrwal d it sararfyes durae digg T 8, ik afe Mg 8 W at, fras
wWTH T HaTa® T3 FHETYH faeRia o3 og URIEd 781 7 | $5 STl Ar0T SIguaiT & forg e grédar ud
TIFEUR THTYT YRd B BT YA B T2 ¢ | TN RS $1 RS ae (CorDECT) Mt 3k
Ao rder R 1. 1. &1 Hroger Ut ugdl & 3/ IeTevvl § 1 A WIS SRV Ued!, WredaR Ud qad Jid
Rien & A1y FTER TUT IRRAT FAfdefadt U [ R $3d 81 1 &1 ot 8 {5 saReni w1
TR R Iedre, Uritor gy & fore Suged Ud anTd-$ =i Menfifeat ae- e, 398 fRIa MSSRF
greftor <Y 3 Sugea et fewms o sroft wrf e v 81

Government related information service just on the bases of return on

:/ R Ufdary & YR R GRHR A I AT |aTl:

1. Appropriate criterion/3Ugad HIMGS

2. Investment criterion/ﬁa?ﬂ AMcS

3. Partnership criterion/dT3IGRI AMGS
4. Integrated criterion/I#fd AMGS

Correct Answer :-

« Appropriate criterion/3Ug&d AMGS

2) DIRECTIONS: Read the passage and answer the questions that follow./
= Frafafad T @ aryde Tees ue Hh f3a T sgliwelt ux=t & 98t fdee &1 au=
DI

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.
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The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

TR a1f FRIAHIE (afe W sRgHeaR A, e ord g arem #=ar), smug o
U 9 aTdl Hbdl 3R Aharaw & faal & SughT & ATead I T Id a1 IUE 4 gan
I g1 g dF qifesd 31 uga & $7 &) Fed 21 AR TH I I O R DI g1
Ugd &1 $d ATA 8 ISTei1P 98 Th TIA-ATUROT TRYTYT §, TR o9 87 39 IR § Hiwd &
% 70 9OR $Q R T@d g, a1 I8 Awy 3ga Sfea 99 9mar B 1R 9t Al afvr § e
forft oft Ty faly R 39 @ &3 ufed 8 godl §1 WuR $t fafira afor) & =nfire @

I S 91T 91 Aifee/Mfe® R ATHA-ITHA, 9w, IfSar a1 Soiifaw g o=
HIHAH |

IMRP FAR: IR DI UIYT, UTT-URHTY, 0 A Ui Ug-Id a1 S Td § - TgT 9P
& gurt /53 W

fafa dar: 1, $-09, [Rad, e, Sexqe a1 3= HTEH & S|
mmgﬂw:m@mﬁmﬁ,mﬁﬁ,ﬁﬁﬁ,qawmﬁﬂwﬂ%ﬁaﬁw&aw
TPd ol

AR $T 4RI (I99) =X, 9, W (Se1sd) (S sa H) R wxif (2few), wror
fagaagaety, mﬁaﬂﬂmﬁﬁam%lwaﬁam%wma?ﬁmélw
& 3ATS UTH § Wld, W, ThIsH, AN, SdisH, uraedt, ufayfd vd g<f| 59 Afsd &1
faerg ®1 gral # IR RNigideR Fars 94, faeay & Th1H Td I BT a1 3=
S A1 AT WER A U & TS IUEHT & BRI SHfgeda 21 ae 7@, TR
HEPTATHD gidl 8, Ufaeauieasd 81 ITTR T et ufshar & forad foaR) &1 emgM-

W fran wraT §; afe 39 TharwT R e 91, 9t eH-ve ¥ STt 3 forad gar=n
IT gt 81

Communication is derived from: /3 RIS, yTaT | foram mar @
1. Greek/ DiE

2. Latin/ dfe

3. French/ %d

4. None of these/ 319 ¥ ®Is gl

Correct Answer :-

. Latin/ dfeq
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3) DIRECTIONS: Read the passage and answer the questions that follow./
= Fafafad T @ aryde tees 39 FH A T sgliwalt ux=t & 98 fiee 1999
DI

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.

The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

AR a1y RgfeeE (Afe 3 sgfdar |, e ord 8 arsm sar), s #
I 9 aTdl Hhdl MR Aharaw & faal & SughT & ATead I T I a1 UG I gan
I g1 GYE aF qifesd 3 Ugaq & $7 &) Fed 21 AR TH I A O R &I g1
Ugd &1 $d ATA 8 ITei1P 98 Th TA-ATUROT TRYTYT 8, IR o1 89 39 IR A Hiwd &
o g9 TUR 9 FR IHd €, 91 ge fauy gga wifea 99 omar 3 19ER ot fafis 9w € ok
forft oft Ty faRly R 39 @ +3 ufed 8 g@dl 31 WuR 3t fafia aftr & wnfire @

I S 91T 91 Aifee/Mfe® R ATHA-9THA, 9w, Ifsar a1 Sifaw- g o=
HIHAH |

JrRMfe® TaR: IR Pt U1, HTa-URMTE, 39 HJ ufver ug=a a1 $1d #3d € - ggi 96
5 ARt I/

fafa Jar: 1, $-09, [Rad, e, Se3qe a1 3 HTEHl & SJivu|

mwgﬂw:am@mﬁmﬁ,mﬁa,aﬁﬁ,qa&mmﬁmmaﬁwmm
J&hd gl
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Wmnﬁ(%ﬂ?r)m g, WY (IFeTsA) (S o #) 3R W= (fd®w), mror

mmﬁmélwaﬂ%mm%WWMW%lw
%mw%@a,m,mﬁ,qﬁ,ﬁaﬁﬁ,m,ﬂmﬁmlwmm
faerd $31 aral # TR frgiaeR sars A9+, faear A7 Tp1H wd e BT 947 3=
Mra A1 7T WER Sd U & TS IUFHT & HRUT g 21 ITe 76, ¥aR
Tepid® gidl 8, Ufauufere 18] IGR e qaxwT ufsear § R faar) &1 sneM-
m?g;m%;wﬁsﬁmwﬁmm,ﬁm-mwm%mm
IUT |

List of verbal communication/m AR Bt '{Eﬁ
1. Face-to-face/ 3THA-TTA

2. Gestures/ 8Id-HId

3. Television/ é?ﬂﬁﬁﬁ

4. Logos/ﬁ"ﬁ

Choose the correct answer/ Idgl 3R %ﬁ

1.1 and 2/1 3R 2

2.2 and 3/2 3R 3

3.1and 3/1 3R 3

4.4 and 1/4 3R 1

Correct Answer :-

« 1and 3/138R3

4) DIRECTIONS: Read the passage and answer the questions that follow./
frd=r: fFraferfad i ) earyde uewt 3ud A R 14 agfawelt u=l ¥ 9d) faweu &1 wa+
P

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.


https://applink.adda247.com/d/XhqWf9lSap
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Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.

The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

AR a1 RS IE (Afe 3 sgepar |, e ok g arsm sar), s #
U AT 91 el MR Jbafaqrd & ot & IuaT & I1eay A Uh 9 a1 9YE I oy
I a1 g aF difed o UgaH & $d &1 $ad 8| TR Th WM A gax R S I
UgaTH $T I HIA ¢ ISTIP Ig Th JXA-HIURYI GRUTHT 8, TR &4 g9 39 91X | 9iad @
o T TOR $Q R GPq ¢, a1 T fawy Iga wfea 99 9ar 2 IR Ft Al afvrd § e
fredt +ft Twg faRly R S0 & #¢ gfed @) godl €1 JR 1 fafs aftr & wnfre §:

I S 91T 91 Mifee/Mfg® JOR: ATHA-ITHA, 6w, IfSaT a1 Soifaw= wd o=
I |

IRMH VAR: IR BT YTHT, YIG-URHETE, 50 F iU Ug-d a1 ST A § - Tgi ab
& gurdt T=i/53 W

e Jar: 1=, $-09, [Rad, e, Sev-e a1 o= HIHi & S|
mngﬁwamqammmﬁﬁmqammmmaﬁw&am
TPd gl

TOR BT 47T (I9d) TW™W, 40, W (SaeTsd) (S sa #) ok weff (2fv®), oo
fagaagawty, mmﬁmélwmm%mmasr&mmélw
¥ TS UeH § Wid, Haw, Tdied, A, Sdred, uraeal, ufrgfy wd g | 39 wica &1
faoprg ®1 el § R RNigideR Tle 94, faeay T Tp1H wd I 5T a1 3=
e A1 HIFG SR S HTNT & STYS SUANT & HIRT g1 g1 A1g ¥Q, TAR
gPIATHS gidT g, Ufaeuuicae 8] 199} U SravwT ufthar @ o faar &1 simeM-

wer= fan SraT §; afe 39 THaRwT ) fean 91, 9t seH-ve ¥ rdT g foras gar=n
IF gl g1

Channel of communication can be?/ HdR &1 art E?f bl %:

1. Visual/ €9

2. Tactile/ T (TeT3d)
3. Auditory/ 40

4. All of the above/3Iudad Tt

Correct Answer :-
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« All of the above/3udad I+

5) DIRECTIONS: Read the passage and answer the questions that follow./
frdz: Fafafed T #) aFyde yees 3ud A 3 T agfasadt uxei o 9t fawen &1 9+
DI

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.

The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

AR a1 RgAeIE (A 3 sear |, e ord g arsm svar), s #
U AT a1 Hbdl MR Jbafag & Frawt & ST & a1eay d Uh 9 a1 9YE I g
I I1 g a@ difed 3 Ugam & $0 & $ad 8| TR Th WM A ga R S I
UgaTH $T I HIA ¢ ISTHiTP Tg Th JIA-HIURYT GRUTT 8, TR &4 89 39 918 | 9rad @
o g9 JUR A HR GFd 7, 9@ 98 fawg aga wfed 591 omar 2 AR & fafis aftr € sk
ot oft T fadly R 39 A +3 ufed 8 a@dt §1 WaR 3t fafis aftr F =nfire @

T S 91T 91 e/ Mig® OR: ATHA-ITHA, oiwiH, IfSaT a1 Seifaw= wd o=
I |

M TAR: IR BT YTHT, YIG-URHETE, 50 FA e ug-d a1 &1 4 § - Igi 9B
5 gaRt T=I/5T

fafea ¥uR: u=, 3-09, q&ad, UBE, $ex-e a1 3 ATHl & Sivu|
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WWEWWWEWWMH%W&HW
|
Wmnﬁ(%qa)m yog, Wy (eaeTSd) (S 9 H) 3R el (3fdw), uror
mmﬁmélwwm%mmasﬁm%lw
%mw%m,m,m,m,m,m,m@muwmm
fapTg P31 Tl § JAR fUgideR Faie 94, faear A B9 Ud a1 9T 3
Mra A1 AT WER A U & TS IUFHT & BRT g 81 ITe 76, TaOR
HehpraTaTd g ¢, ufauufers =18 IROR e ravwT uftear & R ARt &1 sreM-
m?g;m%;wﬁgﬁwwmﬁmm,aﬁm-mwmémm
Id I

According to Claude Shannon’s model, there are elements:/ FATSS

W P Hisd & AITAR TP Tid o
1.5
2.6
3.8

4.7

Correct Answer :-

- 8

6) DIRECTIONS: Read the passage and answer the questions that follow./
= Frafafad T @ aryde e sue - 33 T sglawalt uxt & 98t fdwe o199
g

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.
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The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

TR T1f FRIAHIE (dfe W sRgHeaR A, e ord g aren w=Ar), smug o
U 9 aTdl Hbdl MR Aharaw & faal & U & ATead A T 9@ a1 e 4 gan
I g1 GYE aF difesd 31 Uga & $7 &) Fed 21 AR TH I I O R DI g1
Ugd &1 $d ATA 8 ISTei1P 98 Th TIA-ATUROT TRYTYT §, TR o9 87 39 IR § Hiwd &
% 70 9OR $Q R T@d g, a1 I8 Awy 3ga Sfea 99 9mar B 1R 9t Al afvr § e
forft oft Ty faly R 39 @ &3 ufed 8 godl §1 WuR $t fafira afor) & =nfire @

I S 91T 91 Aifee/Mfe® R ATHA-ITHA, 9w, IfSar a1 Soiifaw g o=
HIHAH |

SRMGP FAR: YRR B UTHT, YT-URMTE, 30 H ufvuT Ug-d a1 i Fd § - Tgi a&
5 gAY T=RI/3T

fafa Jar: 1, $-09, [ad, e, Sexqe a1 3 HTEH & S|

W:mqﬁmﬁm@mﬁm?ﬁﬁ,qﬁmmﬁwmaﬁmw
|

TaR PT ART (I99) =X, 9, W (SFe13d) (S 9a H) iR Wit (o), wror
fagaagaety, WW?W%IWWW%WWWW%IW
& 3ATS UTH § Wid, W, THIsH, AN, SpisH, uraedl, ufayfd vd g<f| 59 Afsd &1
faerg ®1 gral # IR RNigideR Fars 94, faeay & Th1H Td I BT a1 3=
A A1 TG HER S UTYT & AT9S ITANT F HRUT Afgdta g1 a1 7™, 9aR
HepTH® gidl 8, Uaaufere T8 I99R U qravwr ufhar @ ford o) &1 smeM-
Y& AT SITaT &; afe $9 TPHavwT 3R T WY, af SeH-Ua ¥ Srdl ¢ forad garsm

SqF gl g1

Human communication is unique for its extensive use of language:/
HTFq AR YTYT & ATYS ITANT & SR AfgAa &:

1. Verbal/Qfsge

2. Abstract/\%mjf
3. Interpersonal/3iddafadd

4. Oral/Af@®

Correct Answer :-

. Abstract/&l'ﬂjf
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7) DIRECTIONS: Read the passage and answer the questions that follow./
= Fafafad T @ aryde tees 9@ - A T sgliwalt ux=t & 98 fiee w1999
DI

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.

The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

TR a1y sRgfAeeE (Afe 3 sgfdar |, e ord 8 arsm sar), s #
I 9 aTd Hbdl 3R Aharaw & faal & UG & ATead I TH I a1 UG I gan
I g1 GYE aF qifesd 3 Ugaq & $7 &) Fed 21 AR TH I I O R B g1
Ugd &1 $d ATA 8 ITei1P 98 Th TA-ATUROT TRYTYT 8, IR o1 89 39 IR A Hiwd &
o g9 TR 9 FR IHd , 91 ge fauy gga wifea a9 omar 319 ot fafis 9w € ok
forft oft Ty faRly R 39 A +3 ufed 8 g@dl §1 WaR 3t fafia aftry & =nfire @

I S 91T 91 Aifee/Mfe® R ATHA-ITHA, 9w, IfSaT a1 Seiifaw- wg o=
HIAH |

JrRMfe® TaR: IR Pt U1, HTT-4RMTE, 39 HJ ufver ug=a a1 $1d #3d € - g8l 9%
5 gAY I/

fafa Jar: 1=, $-09, [ad, e, Sexqe a1 o= ATEHl & S|

Wl;ﬂw:amwm,mﬁa,aﬁﬁ,qammﬁmmaﬁw&aw
J&hd gl
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Wmnﬁ(%ﬂ?r)m g, WY (IFeTsd) (9 o #) 3R W= (&fd®w), mror

mmﬁmﬁluﬁaﬁ%ﬁm%WWMW%lw
%mw%@a,m,mﬁ,qﬁ,ﬁaﬁﬁ,m,mﬁmlwmm
faerd $31 el # TR frgiaeRr wars 94, faear A7 T wd e BT 947 3
Mra A1 AT FER Sd U & TS SUFHT & HRUT g g 71 ITe 76, ¥aR
Ui gidl 8, fauufere 18] IGR e qravwT ufsear § R faamrst &1 sneM-
m?g;m%;wﬁsﬁmwﬁmm,ﬁmﬁ-mwm%mm
IUT |

Communication is :/9OR grdT 8:
1. Collaborative/Sg®HIc®H

2. Competitive/mm

3. Both of the above/3JWRIad Gl

4. None of these/3TH ¥ &5 gl

Correct Answer :-

. Collaborative/Ig®ATHD

8) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wFyde yee: 3u@ AR f3d M sgfaw«dt uxi & w8t
fasea &1 9 I

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./
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FHIgeX IS faa=mett, Sudiaar fFadl vd w3 Tl 81 T §1PC i 37 SUdIadl & 33 8¢ ab JHI d
St 8 foh aga @ A # SgiErelt 7 3ru Ge F AT fEeig vd faeia o< o € 1ereife, sra &
T, Tidl ® ST IUUNT B GITH I & o1 RIT-19 fawaasg Td &= HIeT $exth a1 31 81 gai
?1 9% ifafad, gTaife FrEduR &t aNTd Ue T8l §, W ImHior 3y & fRre warfi 3t ga anra and oft
FTE! AP B | gAaH FU A ATaIS T, 9 PC, WSH, U WRiyarger, e # anaaurary o
AR (0S, STAH, Td VAN, o WY A1) 8 B arsad anTd Fasr-R-ufdary & arMds & YR |,
WHR T GrERId FaAT aTE U B & 37 STANT H1 Sitferey Rieg 781 S urehl €1 A SuHR0T 95 wieg!
Syaferd gl e @, iR umeftor &= o 377} veRard anTd Sifte € | adu anTd Wi W St anTa feTa
UM & TR a% Uga- & Y fHaes Jarae o1 571 SUBIVN BT STIRT HXd U B TID Td Goi Tfafaferai
@rer g1 | 899 T & 6 9ga & Arvel § R saruriyes STan Hieg 781 2, ok afe deg @ W 6, fraie
W 9 S T FHIYT 3B Rid B3 3g uRRiféa 1 7 1 F% St unior v & e wwd e R we
A UR THTUT YRd B BT VAT B T3 ¢ | TIANT SR Bt PR IE (CorDECT) Wt 3k
Aeprder Reed U1, 1. &1 Hroge? RN vgdl & e IeTe0r &1 A WIS ST Ued], WIeduR e Had Hid
Ren & 1Y TR TUT TIRAH FAfaefad! TrTY e Ria wa 81 S &1 ok 8 % 39 Reni s1ae
TR TR ST, UTHUT U & fiT SWad Ud anTa-$=1a MenRieai do ST, a9 T MSSRF
arftor e 2 Suged Mefiet fesmsa o< # srfl orf SR TS 21

has brought them closer to the uses to the extent of using

computers:/ I8 P IUANT HH Pl ge dP SUAaarsil & oy o mft &:
1. French revolution/ Wi &1 HIf=d
2. Industrial revolution/ 3N wif

3. PC Revolution/ PC ST

4. None of the above/du{iolrl 7 q PIs Tl

Correct Answer :-

« PC Revolution/ PC I

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Faferfad e & wFyde yee: 3u@ AR 33 T sgfaw«dt uzi o w8t
fawea &1 9 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
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entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

HrgeR ftre ufwr=mel, Sudtear fRat vd wu Tifa 8t 1 §1pc wif 3= Sudiaa1 & 39 8¢ a& iU d
It B fr aga A amme # Suaarat 7 31 Ge & SguanT fEesA vd fawRa o R § ieaife, sa d
P, Al B ITP SUGNT B G I & 10 R fawaavg wa &= UTaT $exthd a1 ST 81 g
?139% Sifalvad, gTaifd TS auR T ARG ge IET §, W ITHIOT SRV & forg warfied &) o anma andt o
FTB! AP B 1 gAaH FU I ATaIS T+l S PC, WISH, UTaR wRivarger, filer $ araaurary o
TIEITR (0S, STAY, TH AU, 9 ot @] &) #) argdy anTd - wR-ufaeary & AFds & YR ),
WHR T TR I AT U HA P 30 ITANT BT e R 78 &% uret 81 3 Sudvr 9ga Siect
Syaferd g1 9 8, 3R urHior & ¥ 31t TeRTd anTd SHfee § | adH anTd Wl UR SO anTd T
UM & TR a9 Uga- & U fHU1es Jaresd o 57 SUBVI BT STINT HYd U B TP 3Td Goi Tfafaferai
@i githt | 5o uran @ fr aga @ wrwal § it saraifyes durae divig T 8, ik afe tivg 8 W at, fras
wWTH T HaTas 3 FETYH faeRid S og WA 781 ¢ | $5 STl ATH0T SIgyaT & forg e grédar ud
TIFEUR THTHT YRgd B BT VAT $R T2 ¢ | T RS $1 RS ae (CorDECT) Wit 3k
fiepiter Rew ur. 31, &1 H1ger RN ugel & e IeTe0T 8 | A WIS RIS Iedh!, WedaR Ud gad i
RRen & 1Y YR qUT IARAT FAfaefad! TarH faeRia #vd &1 M &1 91l 8 ¥ 37 Rrem w1
TR R Iedre, Uritor gy & fore Iuged Ud anTd-$ =i Wenfifeat ae- smem, a9s fRa MSSRF
areftor feY 2 Suged wenfiet fewrgs w31 A snft e H 3@ 21

Several entrepreneurs are attempting to offer inexpensive solution
for rural applications:/ 5 IgH! ITHior 3T & e O T WRgd
B BT TITH IR I8 &

1. Software and ICT/ §I0¢ddqR T4 ICT
2. Hardware and application/ gTSddR Tg SFIVART

3. Network and software/ Acde Td IR

4. Hardware and software/ 8TedaR Td Uik

Correct Answer :-

. Hardware and software/ STSatR Ud HIUcdaR

10) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Faferfad e & wryde yee: 3@ AR 3 M sgfaw«dt ux=i & w&t
fawey &1 79 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
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like PC, modem, powerstabilizer, and printer along with the license cost of
software (0OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

FIgeR ftrw fwT=ed, Sudtaar featt vd wu Tifa 8t 1 §1pc wif 3= Sudiea1 & 35U 8¢ a& JHiu d
It B fr aga 9 v § Iuaarsit 7 3 ge & gy fEesa vd fawRa o Rl § ierifes, sadt
AP, Al B ITP SUANT B G I & 10 R fawravg Ta & UTHT Sexth 91T = 81 gl
21 59® Jfalvad, gTeaifes TEAUR $t ANT Ue TE1 §, W ITHT Sy & fore Tarfira &) oa anra snft o
BT ARIF 3| gAaH T A ATTIS Twdl, 9 PC, WSH, TR Riyarger, fiey #l arma oy &
TR (0S, STAH, TE AT, o WY @] &) B AT arTd Fawr-R-ufaary & ards & SMUR |,
WHR T GrERId FaAT aTE U H1 & 37 STANT H7 Sfiferey Rreg 781 S urehl €1 A SuHRor 9gd wieg!
Sryaferd g e €, iR umedtor &5 § 39} TeRard anTd it € | adu anTd W) W SO anTd fReTa
UM & TR a9 Ugad & U fHaes Jarasd & 57 SUBVN BT STINT HXd gU ABTID g goi Tfafaferai
e gitft1 gHA ura @ b aga @ Are A Tt araiie e Hiepe e 8, o) afe Hivg ® o <, e
W T WA T GATYT fae i w3 g WRifea T8 § 1 $% Serit arion sIgwai T & forg wvd e duR vl
WA FHTUT YR HI BT YT R 38 & | TN RIS o1 PRSI (CorDECT) Wit 3k
Aeprer R o1, o1, &1 Hrges Ut ugdl & 3 Iere0r § 1 A WIS Ao Ued!, WeduR Ud gad Hid
RRen & 1Y YR TUT TARAH SAfdefad! AT e Rd a8 | 311 &1 ol @ % 39 Reni sras
TR TR ST, UTHUT U & fIT I Ud anTa-$=Ta MenRieai de e, a9 fRId MSSRF
areftor e 3 Sugea et fewrs e o snoft orf e wd 81

MSSRF based at in doing pioneering work in designing appropriate
technology for the rural poor:/ fRura MssRF arHtur AT 3 Sugaa
MRt fEomgs w33 & it &rf #7 38 @

1. Chennai/a_?rs:
2. Madurai/lilgsxr

3. Coimbatore/® TR

4. Punjab/diTe

Correct Answer :-

. Chennavaﬂg
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11) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: FafifEd e & aFyd® TeH: 39 4 83 T sgflawed! u=ei & 98t
fawea &1 a7 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (0OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

FIgeR 3iftrew fwT=mel, Sudtear featt vd wu Tdfd 8t 1 §1pc wif 3= Sudiear & 39 8¢ a& iU d
It B for aga | wrHel § SuTiaTsi 7 3R e & VAN fEwg ud fawiia 7 ol § IeTaifes, gra €t
T, TTdl H 3P SUART BT GITH T4 & I RIFT fawgasg Ta &= UINT $ex%hd 1 STHM 81 o
21 39% Sifaf¥aw, gTaifes 8T duR ot anTd Ue 3 &, W I 3w & fore warfirea &t oa anra st oft
BT ARIF 3| gAaH T A ATTIS Twdl, 9 PC, WSH, TR Riyamgor, e Sl ama oy &
TIFEITR (0S, STV, TH ATUANT, 9 ot A &) #1 argdy anTd fFaR-wR-ufaeary & AFds & SR ),
WHR T GrERId FaAT FATE U H1 & 37 STANT H1 Siferey Rieg 781 H= urehl €1 & SuHR0r 9gd wieg!
SyEfera 81 wrd €, 3R Imiior &= # 391t IR@Td ATTd 31t &1 I anTa TRl WR S0 anTd AT
UM & TR a9 Uga- & U fHaes Jarasd o 51 SUBIVN BT STINT Hd U B TP g o Tfafaferai
@rort g1 | 3o uran B 76 aga @ arrel & Ot s Sutan Mg T8 8, o afe ivyg ? ot Y, v
W T WA T GATY fae i w3 g WRifEa T8 §1 $% Serdt arion srgwai T & forg wvd e R vl
T UR THTUT YRd B BT YA B T3 ¢ | TN SRS Bt RS aE (CorDECT) Wit 3k
Aeper e o1, o1, &1 Hrge? Ut ugdl & 3 Ieevvl § 1 A WIS I Ued!, WreduR Uq gad Hid
Rien & A1y FTER TUT TRRAT FAfdefadt GHTYU e R $vd 81 1 &1 ot 8 fF saReni w1
TR R Iere, Uritor Sy & fore Suged Ud anTd-$ =i Menfifeat ae- e, 998 fRa MSSRF
areftor e 3 Sugea et fewrs w3 o snoft wrd s v 81

owners and operators are not trained to develop new solution:/
_ arft ud warae T8 gutd faeiia #9 3q ufifia T8 €
1. ICT

2. MSSRF
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3. Kiosks/ frars
4. None of the above/ SUdad & ¥ &5 a8l

Correct Answer :-

« Kiosks/ fhares

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s & aFyd® TeH: 39 4 33 T sgfawed! uxai & 98t
fawea &1 a7 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (0OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

FIeR 3ifte fwT=el, Sudtaar featt vd wu Tifa 8t 1 §1pc wif 3= Sudiea1 & 39 8¢ a& qHiu d
It B for aga & vl o SudiaaTsi 7 3R e & SIyaNT fewgH ud fawfa 7 ol § IeTaifes, gra €
T, Tdl H 3P SUART BT GTH T4 & I RIFTT fawgasg Ta & UINT $ex%hd 1 ST 81 o
?159F falvaw, graifes FEaaR 3t ANTd Ue ¥@l §, W ITHT Sy & fore Tafira &) a anra snf o
BT ARIP 3| gAaH T A ATTIS Twal, 9 PC, WSH, TR RiYager, fiey #l arma oy &
TIFEITR (0S, STAY, TH AU, 9 ot A &) #) argdy anTd R wR-ufaeary & AFds & YR ),
WHR T GrERId FIAT FGTE U H1 & 377 STANT H7 3fiferey Rieg 781 S ureht €1 & SuHRor 9gd wieg!
ST 81 wrd €, SR Imiior &= # 391t IR@Ta ATTd 31t &1 I AT Rl WR S0 anTd fArera
UM & TR a9 Ugad & [T fHaes I o 571 SUBIVN BT SUINT HYd U B TP 39 Goi Tfafaferai
@rort g1 | 3o uran B 6 aga 9 aral 3 O sarares utan Mg T8 8, o afe ivyg ? ot Y, v
W T WA T GATY fae i w3 g Rifea T8 § 1 $% Serdt arion srgwai T & forg wvd e duR vl
TIFEUR THTUT YRd B BT YA B T3 ¢ | TN RS Bt RS de (CorDECT) Mefiat 3k
Aepier Reed o1, o1, &1 Hrge? Ut ugdl & 3 Ieevvl § 1 A WIS I Ued!, WreduR g gad Hid
Rien & A1y FTER TUT TRRAT SAfdefadt GHTY fAe R $vd 81 11 &1 ot 8 fF saReni w1
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TR R Iedre, ATt gy & fore Iugad Ud anTa-$=Ia Menfifeat ae- Smem, 99s fRa MSSRF
arftor fRref4T 39 Suged menfie fesmga w3 # envft ef #e T 71

The kiosks operation will have to find alternative activities:/ fral®

HAaS! Pl dHfD wfafafimi @rer gif:
1. Future generation/'l-lﬁWW

2. Economic generation/ i SEE

3. Revenue generations/ 314 Joiq

4, Social generations/ JHINS Joiq

Correct Answer :-
« Revenue generations/ 34 Joiq

Topic:- Grad_Child Care and Education

1) Fai%ntest of sound can be detected at:/ I ST GH- areit Iad it eafy &
GIEGLEE

1. 0 decibels/0 SRydd

2. 0-10 decibels/0-10 SRsd

3. 10-20 decibels/10-20 SRsd
4. 20-30 decibels/20-30 Sfad

Correct Answer :-

« 0 decibels/0 Sfysd@

2) Sociocultural cognitive theory was propounded by:/ WWWW
TS gid T ufaured A far T

1. Vygotsky/ %P‘ﬁ?@’ﬂ
2. Piaget/ oot

3. Maslow/ Bgdll

4. Kohlberg/ CANER]

Correct Answer :-

« Vygotsky/ f@rmcw®!

3) HIV can be transmitted through:/ Ta3sdl ... § ¥d &l gl
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1. Sweat/ GHHT
2. Saliva/ dR

3. Urine/ H§
4. Breast miIk/JZI\T"% [

Correct Answer :-

« Breast miIk/ﬁ% [

4) Which among the following is not the feature of special education for the

disabled?/ 379 I P4, 3=l ¥ ARy g & faiwar 781 82

1. Instruction and teaching strategies should be individualized/ 3G 3R AT

ot Jafaded gt @Ry

2. Sequencing the task in such a way that it begins with the tasks a child can perform
and gradually lead to complex learning/ T P Y UBR quoﬁ-ld H1 o I8 W Hraf
3R B I8 91 B Ihar g1 3R dR-¢R Sifed siftnmm ot iR /g

3. Inculcate the spirit of competition among the classmates so that they can prove
themselves to be better than the other children/ TguTfadl & A9 # Ufawgef &t yrar
I AT o WY B 3 T 4 IgaR R B b |

4. Those abilities should be developed in the child that will enable them to perform
the everyday tasks of living independently and enable them to become productive/
S H U A fasRid &1 Sl e T St I sitad & fe-ufdfe & oraf &l Wdd U 4
FRA T 3R ST 9 § IAY §1¢

Correct Answer :-

« Inculcate the spirit of competition among the classmates so that they can prove
themselves to be better than the other children/ wm%q‘f%mﬁqﬁmvfﬁ HTgHT
ST A1 I T BT 30 T F IgR g PR IS |

5) What percent of reservation is provided to the disabled government
educational institutes / government aided institutions by the Ministry of

Education?/ fR1&m A=arerg feaaiv IR R} Afére IR / TR AgTadT Ured AT &1
fopam ufar=Id SMRET weTH H it 82

1.3 percent/3EIﬁI1’1?—f
2. 5 percent/5 Uf=rd
3.7 percent/71;|ﬁl?zrﬁ
4.10 percent/lOEIﬁF\’I?f

Correct Answer :-

« 3 percent/3 IR
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6) Pre- conventional, Conventional and Post conventional levels were
propounded by:/ Td-UR™®, RN TF UY-URWRS wRI BT ufqured Rl
fopam mar T

1. Freud’s psychosexual theory/ W?ﬂtﬁam (HT:hTHd) Rigid

2. Piaget’s theory of Cognitive development: g & S3Te® faw™ &1 Rigid
3. Kohlberg’s theory of morality/ ®idei & Afddwdr &1 Rigid
4. Erikson’s theory of Psychosocial development/ TRGIH & AANTHINS [dHT BT Rigid

Correct Answer :-

. Kohlberg'’s theory of morality/ HIaai & Afdedr &1 Rgid

7) The theory propounded by Bronfenbrenner emphasizes:/ §IHbA8R GIRT

yforarfea Rrsia .. wsaear gl

1. Biological context/aﬁEtIﬁfﬁ&H

2. Cognitive context/ TMTH® URUE

3. Environmental context/ TafaRuiig uRued
4. Psychosexual context/ T gRkued

Correct Answer :-

« Environmental context/@ﬁ@ﬁﬂqﬁﬁ&q

8) Which among the following is not a form of pre-speech communication?/

39 A B, Yd-a19p Halg $T TP U 8l 82
1. Crying/ﬂTlT

2. Cooing and Babbling/ &SI (%% &) 3R YaTd &A1

3. Gestures/ gTd-H1d/HRATE
4. Sentence formation/ a1 AT

Correct Answer :-

« Sentence formation/ ard fAafor

9) A person who is ignorant about what the social group expects rather than
intentionally violating the group standards is said to be:/ 98 Sfad T HgaTdl &
S TS THE & ATD! BT AIGIHR I 8] B 8T § I 39 Ig F14 7181 & 5
TYE T AUST HT 32


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

1. Moral/ Afa®

2. Immoral/ 3FfA® (FHRA)

3. Unmoral/ fAAfa® (3FHRE)

4. None of these / 378 ¥ &5 g

Correct Answer :-

« Unmoral/ A& (3FERa)

10) Visual acuity can be measured by:/ Y dt&urdr &1 ATU= ... gRT fHaT oI It g1
1. Hoover cane/ gaR §d (&)

2. Prosthetic device/ HTAHT T

3. Orthotic device/ 3iRIifC® (31T BT TR ¢ aTa) T

4. Snellen chart/ Ao a1C

Correct Answer :-

« Snellen chart/ AT T

11) Which type of child rearing practice is ideal for fostering creativity
among children?/ ¥= § TATRNET &1 941 ¢4 & forT 5T YPR &1 916 UTa= 31T
el 82

1. Democratic/ e dl-ad
2. Overprotective/ 3ffaxeft
3. Permissive / o8

4. Uninvolved/ 38y

Correct Answer :-

« Democratic/ A& dif~d

12) Which among the following is not the purpose of developmental tasks?/

g9 A P, fApTaTH® Sl &1 yate 8 82

1. They act as guidelines to help parents and teachers to know what children should
learn at a given age./ 3 ATdI-fUdT 3R SieATUSD| P T S H TTIAT & & fob bt 31
o=y o gt &1 o dka =g Ul

2. Developmental tasks serve as motivating forces for children to learn what the
social group expects them to learn at that age./ fAeTaTH® o1 9] B 3 ol We &
o TR 90l & T0 H B R ¢ o ATHINIS THg 374 39 1 H Hg BT 30e 3@ g |
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3. Developmental tasks tell parents and teachers what will be expected of children in
the immediate and remote future./ f[AGMTA® HTT ATT-UdT T SfeATTSH! &I §dTd § fob
fehe ud YR oSy o s=af J . e g

4. Developmental task increases the intelligence of children./ fA&MITES &1 g B

gfer & g9 #3d B

Correct Answer :-

« Developmental task increases the intelligence of children./ famrarEs o s B

a8 g Hd B

13) Children are able to reason on the basis of hypotheses and propositions
in which stage of cognitive development?/ IS fasra & fordg sawin & a1
yReeuAT3i 3R ufagferal & R W a& &1 § g0y 81 &1 82

1. Sensorimotor/ TdaGRTATHD (FUHICR)
2. Pre-operational/ Jd-fhardd®

3. Concrete operational/ 319 dfehareld

4. Formal operational/3iiu=ite Tfsareis

Correct Answer :-

. Formal operational/3u=Te dfards

14) Which among the following is a type of Learning Disability?/%’ﬂ'ﬁﬁﬁ?@
SIfATH 3[TeRTAT BT U 72

1. Monoplegia/ THITEIT (FHIwITo)
2. Dyslexia/ U 3oy (Feaafaaan)
3. Spasticity/ 3ifddrar (el
4. Epilepsy/ G{CIW(ﬁFTf)

Correct Answer :-

. Dyslexia/ U3 doed (ST

15) Monitoring of the ICDS scheme is the responsibility of which among the
following Ministry?/ MSAIEITH i1 @t AR &1 SWReId@ 379 o f5a awraa &1
32

1. Ministry of Child Development/ AHd I41¢ fasmm H3Te™

2. Ministry of Health and Family Welfare/ %74 Td URAR ®edru HATe™

3. Ministry of Social Justice and Empowerment/ ITHIfSIdb <10 Td UG TRAT HAad
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4. Ministry of Women and Child Development/ Afgdl Td &1d fadbrg dre™

Correct Answer :-

« Ministry of Women and Child Development/ Afgdl Td a1d fadb H31e™

16) CHETNA stands for:/ 3a+T (FTIZEITAT) HT RT A9 B

1. Centre for Health, Education, Training and Nutrition Awareness/ g WTQ%c‘d, Q\{ﬁb-‘eld,

<7 T8 IR 3aeR-9 (TR, fR1af, UfRI&or Ud UiV el 6g)

2. Central Health, Entertainment, Training and National Awareness/ @EE%?J Q'Eié:ifl'a,
S+ U8 AR SHATRAY (i WA, HARGIH, UiRIEU1 Td AP Sreehn)

3. Central Holistic Education for Training and Natures Awareness/ @Eﬂmw
BIR ST Td A SfaTRA (UfRIEIU Td U fa SRRedhdl & forg dhata e fRie)

4. Centre for Human Education, Teaching and Nutrition Awareness/ dcR iR gad
TR, T U8 IEIRM 3atR-4 (T4 fRigf, (&0 Td Uivul S adl %)

Correct Answer :-

« Centre for Health, Education, Training and Nutrition Awareness/ e WTQ%Q‘G, Q\{ﬁb-‘eld,

ST U8 IEIRM SHATRN (WaTRa, e, Ufkiefvr ud iy SR dl $g)

17) The Indira Gandhi National Disability Pension Scheme (IGNDP) is

%rovided by:/ $fez1 Tieh Irfta feaaivTe U= T (SMESHEAST) ... §RT Y& 31 ATl
|

1. Ministry of Social Justice and Empowerment/ SIS <a1d T SHfYHTRAT HAed
2. Ministry of Rural Development/ JTHIUl fd®rT Harad

3. Ministry of Personnel, Public Grievances and Pension/ Eb‘lﬁE, WW@W
HAT™

4. Department of Disability Affairs/ fqaaire & favm

Correct Answer :-
« Ministry of Rural Development/ JTHIUl [d&Ty HATGT

18) The red ribbon is a symbol for:/ &Td BIdT ... & Udl® 1

1. Being cautious for catching a HIV infection/ T3St HHU B IUc § 31 & Ufa Irae

er )

2. Identifying HIV positive people and those suffering with AIDS/ TgeTEd! uifsifea |
3R Ty Hifsa dril &1 U= A

3. Solidarity with HIV positive people and those living with AIDS/ Td3fTed! uffetfed @
3R ugy ifsa anil & 1Y Thglear
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4. Danger of combatting HIV infection/ TI3MTSd! IHUr msﬁ & TR

Correct Answer :-

« Solidarity with HIV positive people and those living with AIDS/ Tgeedt uifwifea dmt
3R Ty Yifsd aril & 1Y Thgedr

19) The first stage of learning in which the individual learns what is required
in the task and certain specific components of the task is known as:/ SfeRTH

P 98 UG AT T Hgard! g Foraw sufed ag ST 8 &rd # &1 ey g 3R »1d &
7o falky geo 7 82

1. Cognitive stage/ IMTIHD AR
2. Association stage/ ITgad (THIRITIM) 3=
3. Automation stage/ ¥adTd HdRIT

4. Realistic stage/ gyTfardl srara

Correct Answer :-

« Cognitive stage/ JIMHIHD AR

20) The Right to Free and Compulsory Education Act, 2009 makes education
a fundamental right of every child in the range of:/ ﬁzmqa'arﬁmffkr&nm
R srfuferam, 2009 Rrem Y ... F} Mg aTe TS I8 BT Th N IfUdR a1a1 81

1.2-18 years/2-186|'5f
2. 3-15 years/3-15 Iy
3.6-14 years/6-14aﬁf

4. 4-18 years/4-18 G

Correct Answer :-
« 6-14 years/6-14 qy

21) Formal technique of organizing material to increase the likelihood of its
being remembered is called as:/ mwhﬁaﬁv%ugqmwﬁ%mm
DI S/ RIT H B TS TH-P DI ... HFT AT B

1. Memorizing/ aIg Al
2. Concept formation/ 3/@eRur fAafor
3. Interference/ 3{dR&T (32XWRY)

4. Practice/ Y

Correct Answer :-
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« Memorizing/ lq HAl

22) Which among the following type of learning involves higher mental
processes taking into account gasping of meaning or significance of a given

phenomenon?/ 34 ¥ f&d yeR & AR & Swar Arafye ufthare wnfire € < fasft
gfvgeqr fagiy & o a1 ardfedr R faar ol &2

1. Trial and Error/ Wﬁ%

2. Cognitive learning/ SRMTE® U (Hiffea )

3. Classical conditioning/ RRUTIUTI e (FATRIb e HSIRAT)
4. Operant conditioning/ foFaTIgAUM G (SHTRE dHarf—T)

Correct Answer :-

. Cognitive learning/ IS SR (@BITAfcT af-m)

23) Which among the following objective holds incorrect for pre-school

education?/ Yd-faemaal e & dey ¥ 370 | S1F-971 ST T9d 82
1. To develop rote memory in children/ S=i & RSTHR F{ﬁfﬁﬁmm
2. To develop aesthetic appreciation in children / = # Hicd TRTgT &1 fdbTg BT

3. To develop in the child a good physique, adequate muscular coordination and basic

motor skills/ ¥ & 3T ARG, HI9-URE # yafe araad iR STURY TS HId
fa R ®T

4. To develop emotional maturity by guiding the child to express, understand, accept
and control his feelings and emotions/ S &1 30 TEIT 3R HTGATE dd B, THH,
WHRA IR ARd S & ARTGRA S HTaTes URuedl faw Rid Bl

Correct Answer :-

« To develop rote memory in children/ =i & RSTHR F{ﬁfﬁﬁmm

24) The concept that objects continue to exist even though they cannot be
seen or heard is termed as:/ I&U faem™ a1t Y5t €, a9 W 59 I S@r T AT A W=
Tl g1, 3T YR B FT Hed 82

1. Accomodation/ JHATASH
2. Object permanence/ a¥%] ®IRId
3. Assimilation/ TERITA®H U/ THRUT (TRITHTRH)

4. Mental equilibrium/ ATFRT® JTRTTRT

Correct Answer :-
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« Object permanence/ ?ﬂﬂwﬁha

25) Which among the following statements is false with regard to people

with hearing impairment?/ 4aul &fiordT arel AN & 9 & 590 A PIH-91 B Tad 82

1. It is believed that some amount of residual hearing is present in all people with
hearing impairment/ Ig AT ST & & srqor eftorar ara gaft safaaqal & GiSt amn & sawdt
SqUT &HAT SUTT Bl §

2. Hearing impairment automatically leads to inability to speak/ squT &fturar W d: g1 Siem
H AT BT SR & STl §

3. Early detection of hearing loss and training is essential to help the child make use

of whatever hearing he has to help him develop communication skiIIs/aérffﬁrl?Fﬁ af
YU AT 8 ITDBT SYTANT B UdIE HI fdbRId B H A UM & o I 3Maxa g fb
JUT &A1 &b BT BT ARY T g T T STe 3R uferor faan sy

4, Hearing impairment has a wide range of gradation- from profound to a partial

hearing loss/ 4901 &ftural o1 Tgs AT § - TR @ AR 3111k 49ur &HdT 819 d&

Correct Answer :-

« Hearing impairment automatically leads to inability to speak/ 8rquT &fUraT Yo d: g SieH
T T BT HRN § STl |

26) If you stroke a baby on the sole of her feet, she first spreads her toes
and curls them, the baby is exhibiting which of the following reflex:/ gfe 3my
freft R & W & Uat & dat W die B a1 a8 Uge a1 R Ft siyferai Hemar 8 ok iR 37
A odr 21 gy 3# | pi-a7 uforad gt we1 82

1. Rooting/ Hal@h (¥l

2. Moro/ ARl
3. Babinski/ STa~p!
4. Grasp/ DI

Correct Answer :-

« Babinski/ STfa=pt

27) On an average a neonate’s height is between:/ Wﬁmaﬂmaﬁw

gielt 81

1. 6-10 inches/6-10 39
2.11-16 inches/11-16 39
3.17-21 inches/17-21 59

4.22-28 inches/22-28 34
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Correct Answer :-
« 17-21 inches/17-21 54

28) Sensorineural hearing impairment involves problems confined to the:/

Hdg-afxaTa yqur efrar & fdre vy ... & Wi 9§
1. Outer ear/ STgI &l

2. Middle ear/ A& &Uf

3. Inner ear/ 3fiaRe Huf

4. None of these/ sﬂﬁﬁaﬂéqﬁ

Correct Answer :-

. Inner ear/ 3iide HUl

29) Which among the following are models of mainstreaming?/ sﬂﬁﬁﬁq

TWIYURT & A @) & uferet &

1. Advance and No reject/ 3R Td Y 3RAIHRUT

2. Fail-save and Zero reject/ GI¥-YR& Td Y 3RAIHUI

3. Admission to all and Failure to None/ Hlﬁaﬁmﬁﬁmwﬁlﬁﬁ

4. Save and Protect/ ST Td I&T HAT

Correct Answer :-

. Fail-save and Zero reject/ GIN-YR&/ Ud T SATHRUI

30) Which among the following relates to the set of laws, policies,
regulations and services needed across all social sectors- especially social
welfare, education, health, security and justice?/ 94} GRS &3 - faRiv 0 3
TS HedTul, R, W, JREMT Ud =T - § A1a=Rgd BIAL, feal, fafaai va darsi &
IYE A 399 | $IF giafud 82

1. Child Protection System/ §Td R&T d«

2. Child Support System/ STd TgdRT dd

3. Child Support and Strengthening System/ ST T8dNT U9 IRIGdHUIdd

4. None of the above/ 378 ¥ &I gl

Correct Answer :-

« Child Protection System/ §Td R&T d<
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31) Repetitious speech accompanied by spasms of the muscles of the t.hroat
and diaphragm is termed as:/ Sg<Tagad aTvil TG GTY | A TUT STATIHTH $t HTH-
URr @ YeA Bt gl ST g

1. Lisping/ ddd=T

2. Slurring/ fo=saq (31eR SIEICa) Wﬁﬁlﬂ\?ﬂ:ﬂ)
3. Stuttering/ b Al

4. Cluttering/ TRl (Sdd THT &R I i)
Correct Answer :-

« Stuttering/ 8H Ml

32) Functions specific to the individual, such as swimming, ball throwing or
riding bicycles for which training is required are known as:/ e fafRy uerd,
S A=, Tig BT a1 ATsied Tardr, o fore ufkieror 3t smaxgwar gl B, .. Feand 7

1. Ontogenetic function/ Sfad-gaTHG IS

2. Phylogenetic function/ Wﬁfm
3. Onward genetic functions/ 39 e-naaﬁwwrcf

4. Organoleptic functions/ 3T Tt UHRi

Correct Answer :-

. Ontogenetic function/ &fad-gaTEHIBTY

33) Which among the following term is used for the tendency to ascribe life
like qualities to inanimate objects?/ 378 ¥ f&¥ Xeg I fAffa axge @ sftaa-aw
o B Hafid e Bt ughty $ o va fpar sirar @2

1. Egocentrism/ N REA T RS E ATl (ﬁ’ﬂﬁ@\_ﬂ)
2. Daydreaming/ faaray

3. Animism/ Sitadre (THSH)

4. Socialization/ TTHTSIH 0T

Correct Answer :-

« Animism/ Siigarg (@HHeH)

34) Which among the following is the component of ICDS Scheme?/ Flﬁ'ﬁ
P AMSA ST D1 HT TP U 82

1. Supplementary Nutrition/ Wtﬁw
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2. Health check-up/ WY W
3. Nutrition and Health education/ GINUI T4 TWTRY fR1ef
4. All of the above / G'C@Tﬁm-ﬁ

Correct Answer :-

« All of the above / G'Cl?iaﬁﬂﬂ-ﬁ

35) Which among the following refers to the absence of a particular part of
the body or organ, or a reduction in function of some part of the body?/ 371'!?[

¥ foraer o IR & fopelt UT fa=iv ar 31 ot srqufRufa, sryar IR & foedt yr &5t
Friemar § o & 82

1. Impairment/ &ftorar

2. Disability/ HRTeddl

3. Handicap/ fa& i

4. None of these/ STH I P13 g1

Correct Answer :-
« Disability/ 3Reddl

36) Which among the following involves an educational placement procedure
and process for exceptional children based on the conviction that a child
with special needs should be educated in the least restrictive environment?/

38 3 frad 391 Te-fayr i, faiy smazawarsit ara s=i & <gAaw ufadurars afasr o
fkr&naﬁaa?gmﬁq & STYR TR UATSt godi & e ue QAfere wure= srifaft vd uftear

1. Mainstreaming/ Y37 YR H (ﬁ‘rﬂ%ﬁﬁiﬂ)
2. LabeIIing/@aFFr

3. Rehabilitation / Q:I?:Iﬁ

4. Vocational education / ATaHT® fRi&

Correct Answer :-

« Mainstreaming/ Y37 YRT o (ﬁ?ﬁﬁﬁi’ﬂ)

37) Which among the following holds true for learning?/ 3iftRmH @f+m) & forw
TH 9 DI 91 9 §?

1. Learning is a continuous process/ &Mwwm%
2. Learning is a gradual process/ WWWW%


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

3. Improvement in performance results with practice and experience/ ¥ G?IT&HHH

¥ gz fkume dgaR 8id
4. All of the above/ Iuad Tt

Correct Answer :-

« All of the above/B'Cl'?iaﬂ‘v'ﬂ-ﬁ

38) Twenty two pairs of chromosomes are called/ TR & qT5H SIS| DI ... Had
gl

1. Autosomes/ 3fCiIgA

2. Zygotes/ JiHAY
3. DNA/ ST

4. None of the above/ 378 ¥ &I gl
Correct Answer :-

. Autosomes/ fITREA

39) Automatic physical movements of a new born in response to a particular

event or stimulus is termed as:/ f&Hl ge1 a1 IEUA A=Y Ft rgferar & Taema Ry
H g ard WaTfed RIS Saa- &t ... Bl ST g

1. Reflexes/Ufaad/vfaad! fspamg
2. Retention/ IREIRL|
3. Retardation/ Hed

4. Recovery/ J: UG

Correct Answer :-

. Reflexes/Ufaad/faadf feramg

40) Phallic stage of Psychosexual theory of Freud corresponds to which
stage of Erikson’s Psychosocial development theory?/ %1g8 & U I®

@ - P) fagia ot R s, thveaa & e Ao Risia & foa sarn &
T 72

1. Trust versus mistrust/ fayrg s91H Sifaym™
2. Autonomy versus shame and doubt/ WW@@W
3. Initiative versus guilt/ Ugd S-TH ORTHUETY

4. Industry versus inferiority/ URYH §91H Bi-dT
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Correct Answer :-
« Initiative versus guilt/ Ugd d4TH SRTYSY

41) Which among the following are the beneficiaries of the supplementary

nutrition program under the Integrated Child Development Services?/ qAfea
Te faera Aareit & siavfa e Tiwor srdey & arurdf g8 S+ 82

1. Children below 6 years/66|'5f?[a°_q\3~rr§[a'l@faé[
2. Pregnant and Lactating mothers/ THdcd Td T=u= &1 Xa! i
3. Both of the above/ SWRIad I

4. Women between 15-45 years/15-45 Iy &1 gt

Correct Answer :-

e Both of the above/ RUCIESRAGI

42) Which team comprises of Anganwadi workers, Anganwadi helpers,
Supervisors, Child Development Project officer and District Program

Officers? NTHATS! HIAGATY, TS Tera®!, wdders!, a1 faera ufvaierr st
wd forem srdw srfteriyal & fares fad ga &1 s+ g1 82

1. WHO team/ 3@1@@[?@

2. UNICEF team/ gf-9® &d

3. ICDS team/ SIS &d

4. NIPPCD team/ THSMRUIURITS! ad

Correct Answer :-

. ICDS team/ SHSITY &

43) Which among the following holds true for emphasizing the need of pre-

school education?/ Td-faemedt fRiem &t smazaddt R ga 31 & U sad A s I 32

1. Promotes biological, physical, physical, emotional, social and intellectual growth of

children/ =i & Sifd®, IR, HTa-THS, IS 3R Sifad faaTg & 9grar <t 8

2. Takes care and provides custodial and other care for children in the absence of

parents/ HTAI-fIdT & Ul T GUTA Bl 8 Td TRef} Td 3= RGUTA U Hrat §

3. Reduces the number drop out from primary schools by providing fulfilment of

potential abilities of children/ ! P GHTAT ATl &1 U1 UaH dRdb Wyl faemai
oI o9 d 81 BT ¢ a1al et ot W gerd g

4. All of the above/ B“CRiTH gt
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Correct Answer :-

« All of the above/maﬁﬂﬂ-ﬁ

44) Which among the following technique is used for studying social
relationships in informal groups?/ 3AU=NR® TYE! # YIRS Jaei & sreaa— &
fore 39 @ fora -t &1 IuEi fpar srar 82

1. Socialization/ TTHTSIGHRUT
2. Sociometry/ FHSIHIT
3. Anecdotes/ gxiid

4. None of the above/ @ﬁ@raﬁéqé’r

Correct Answer :-

« Sociometry/ JHTSIAT

45) Which among the following facilities are provided to the disabled by the

Central Government of India?/ maﬁ%wwﬁmﬁﬁﬁﬁﬁﬁﬁ'—r—ﬁ
IRITG yor &t Wt @2

1. Persons with disabilities are eligible for income tax deduction under Section 80U/

fEeTToT 4RT 809 & S STTHR Heldl b U &

2. Persons with disabilities are exempted from payment of professional tax/ feaiemt
®I R B (NHIFA ) & YTaH I Be &

3. Legal guardians of dependent persons with disabilities are eligible for income tax
deduction under Section 80DD/ 3Tf3d fETNTHI & BT A& D/ HUTTD YRT 808! b
SfaTd 3B Heldl P U §

4. All of the above / wjaamﬁ

Correct Answer :-

« All of the above / G'Cléaﬁﬂlﬁ
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